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Chapter 1: Introduction to Corporate Finance
1.) Question ID#: 97622 agency relationships / corp governance

Which of the following statements regarding corporate governance practices is least accurate? 

	A)
	Corporate governance is not as important for firms with largely dispersed minority shareholders.



	

	B)
Good corporate governance practices ensure that the firm’s financial and operating activities are reported to shareholders in a verifiable manner.



	C)
Corporate governance is the system of internal controls/procedures by which firms are managed.




The correct answer was A. 

Good corporate governance practices are extremely important in the case of firms with largely dispersed minority shareholders. Both remaining statements are accurate. 

2.) Question ID#: 97621 agency relationships / corp governance

Corporate governance is the set of internal controls, processes and procedures defining how a firm is managed. Which of the following statements concerning corporate governance is least accurate? 

	A)
	Good corporate governance means that the board can work effectively with management.



	

	B)
Good corporate governance dictates that the firm’s financial, operating and governance activities are reported to stakeholders in a fair, accurate and timely manner.



	C)
Corporate governance defines the appropriate rights, roles and responsibilities of management, the board, and stakeholders within a firm.




The correct answer was A. 

The board of directors must be able to act independently from management. Both remaining statements concerning corporate governance are accurate. 

3.) Question ID#: 97513 agency problem / takeover defense

A special-purpose board committee with which of the following responsibilities would be least likely to act in the best interests of the shareholders? 

	A)
	Takeover defense.



	

	B)
Corporate governance.



	C)
Mergers and acquisitions.


	


The correct answer was A. 

A committee responsible for takeover defense would most likely be acting in the interests of the company's current management rather than in the interests of shareholders. 
4.) Question ID#: 97565 agency problem / takeover defense

Which of the following statements regarding company takeover defenses is CORRECT? 

	A)
	Newly created anti-takeover provisions may or may not require stakeholder authorization/approval.



	

	B)
The firm’s annual report contains pertinent details concerning takeover defenses.



	C)
A firm’s proxy is the most likely place to find information about present takeover defenses.




The correct answer was A. 

These provisions may or may not require such approval. In either case, the firm may have to, at a minimum, provide information to its shareholders about any amendments to existing takeover defenses. A firm’s articles of organization are the most likely places to locate information about present takeover defenses. 

5.) Question ID#: 98225 importance of secondary market

Which of the following statements regarding secondary markets is least accurate? Secondary markets are important because they provide: 

	A)
	regulators with information about market participants.



	

	B)
investors with liquidity.



	C)
firms with greater access to external capital.




The correct answer was A. 

Secondary markets are important because they provide liquidity and continuous information to investors. The liquidity of the secondary markets adds value to both the investor and firm because more investors are willing to buy issues in the primary market, when they know these issues will later become liquid in the secondary market. Therefore, the secondary market makes it easier for firms to raise external capital. 

6.) Question ID#: 97471 primary/secondary market

Which of the following statements about primary and secondary markets is least accurate? 

	A)
	The proceeds from a sale in the secondary market go to the issuer.



	

	B)
A primary market is a market in which new securities are sold.



	C)
The primary market benefits from the liquidity provided by the secondary market.




The correct answer was A. 

Proceeds in a primary market go to the issuing firm. Proceeds from a sale in the secondary market go to the current owner who is selling the securities. 

7.) Question ID#: 97369 primary/secondary market

Which of the following statements regarding primary and secondary markets is least accurate?

	A)
	Prevailing market prices are determined by primary market transactions and are used in pricing new issues.



	

	B)
Secondary market transactions occur between two investors and do not involve the firm that originally issued the security.



	C)
New issues of government securities can be sold on the primary market.




The correct answer was A. 

Prevailing market prices are determined by the transactions that take place on the secondary market. This information is used to determine the price of new issues sold on primary markets. 

8.) Question ID#: 97223 primary market

A primary market transaction involves: 

	A)
	the sale of new securities to investors. 



	

	B)
the direct trading of securities between institutional investors. 



	C)
primarily preferred stocks. 




The correct answer was A. 

A primary market is a market for new issues of securities. 
9.) Question ID#: 97612 agency relationships / corp governance

Rochelle Dixon is delivering a presentation on best practices for corporate governance. Two of her recommendations are as follows:

Statement 1: To avoid the potential for harming shareholders’ interests by wasting company resources, the Board of Directors should get management’s approval before it hires outside consultants.

Statement 2: The more members a Board of Directors has, the more likely it is to represent shareholders’ interests fairly.

Are Dixon’s statements CORRECT?

	
	Statement 1
	Statement 2


	A)
	Incorrect

Incorrect



	

	B)
Incorrect

Correct



	C)
Correct

Correct




The correct answer was A. 

Both statements are incorrect. An independent board should have the ability to seek specialized advice by hiring outside consultants without management approval. The size of the board should be appropriate for the facts and circumstances of the firm; having more members does not imply that the board will be more independent if the additional members are aligned closely with management or are less well qualified. 

Chapter 2: Financial Statements, Taxes, and Cash Flow
1. Question ID#: 98190  diff betw bs,is,cfs

Which of the following statements represents information at a specific point in time?

	A)
	The balance sheet.



	

	B)
The income statement and the balance sheet.



	C)
The income statement.




The correct answer was A. 

The balance sheet represents information at a specific point in time. The income statement represents information over a period of time.

2. Question ID#: 98195 purpose of fin stmt anal.

Which of the following is least likely to be considered a role of financial statement analysis? 

	A)
	Assessing the management skill of the company’s executives.



	

	B)
To make economic decisions.



	C)
Determining whether to invest in the company’s securities.




The correct answer was A. 

The role of financial statement analysis is to use the information in a company’s financial statements, along with other relevant information, to make economic decisions. Examples of such decisions include whether to invest in the company’s securities or recommend them to other investors, or whether to extend trade or bank credit to the company. Although the financial statements might provide indirect evidence about the management skill of the company’s executives, that is not generally considered the role of financial statement analysis. 

3. Question ID#: 98197  purpose of fin stmt anal.

Which of the following best describes financial reporting and financial statement analysis? 

	A)
	Financial reporting refers to how companies show their financial performance and financial analysis refers to using the information to make economic decisions.



	

	B)
Financial reports assess a company’s past performance in order to draw conclusions about the company’s ability to generate cash and profits in the future.



	C)
The objective of financial analysis is to provide information about the financial position of an entity that is useful to a wide range of users.




The correct answer was A. 

Financial reporting refers to the way companies show their financial performance to investors, creditors, and other interested parties by preparing and presenting financial statements. The objective of financial statements, not analysis, is to provide information about the financial position, performance and changes in financial position of an entity that is useful to a wide range of users in making economic decisions. The role of financial statement analysis, not reporting, is to use the information in a company’s financial statements, along with other relevant information, to assess a company’s past performance in order to draw conclusions about the company’s ability to generate cash and profits in the future. 

4. Question ID#: 98109 bal sheet – calc liab and eq

Duster Company reported the following financial information at the end of 2007: 

	
	in millions 

	Unearned revenue 
	$240 

	Common stock at par 
	30 

	Capital in excess of par 
	440 

	Accounts payable 
	1,150 

	Treasury stock 
	2,000 

	Retained earnings 
	5,160 

	Accrued expenses 
	830 

	Accumulated other comprehensive loss 
	210 

	Long-term debt 
	1,570 


Calculate Duster’s liabilities and stockholders’ equity as of December 31, 2007.

	
	Liabilities 
	Stockholders' equity 


	A)
	$3,790 million 

$3,420 million 



	

	B)
$3,790 million 

$7,420 million 



	C)
$3,550 million 

$7,840 million 




The correct answer was A. 

Liabilities are equal to $3,790 million ($240 million unearned revenue + $1,570 long-term debt + $1,150 accounts payable + $830 accrued expenses). Stockholders’ equity is equal to $3,420 million ($30 common stock at par + $440 capital in excess of par – $2,000 treasury stock + $5,160 retained earnings – $210 accumulated other comprehensive loss).

5. Question ID#: 97940  bal sheet – change in working capital and cash

Peterson Painting Company is a commercial painting contractor. At the beginning of 20X7, Peterson’s net working capital was $350,000. The following transactions occurred during 20X7:

	Performed services on credit 
	$150,000 

	Purchased office equipment for cash 
	10,000 

	Recognized salaries expense 
	54,000 

	Purchased paint supplies on on credit 
	25,000 

	Consumed paint supplies 
	20,000 

	Paid salaries 
	50,000 

	Collected accounts receivable 
	157,000 

	Recognized straight-line depreciation expense 
	2,000 

	Paid accounts payable 
	15,000 


Calculate Peterson’s working capital at the end of 20X7 and the change in cash for the year 20X7.

	
	Working capital 
	Change in cash 


	A)
	$416,000 

$82,000 



	

	B)
$414,000 

$82,000 



	C)
$416,000 

$80,000 




The correct answer was A. 

Working capital at the end of 20X7 is $416,000 ($350,000 beginning working capital + $150,000 increase in accounts receivable from services – $10,000 office equipment purchase – $54,000 salaries expense accrual – $20,000 consumed supplies). The change in cash was $82,000 ($157,000 collections – $10,000 from equipment purchase – $50,000 salaries paid – $15,000 for payables). 
6. Question ID#: 97935  bal sheet – working cap and current assets

Firebird Company reported the following financial information at the end of 2007: 

	
	in millions 

	Merchandise inventory 
	$240 

	Minority interest 
	70 

	Cash and equivalents 
	275 

	Accounts receivable 
	1,150 

	Accounts payable 
	225 

	Property & equipment 
	2,160 

	Accrued expenses 
	830 

	Current portion of long-term debt 
	120 

	Long-term debt 
	1,570 

	Retained earnings 
	4,230 


Calculate Firebird’s current assets and working capital.

	
	Current assets 
	Working capital 


	A)
	$1,665 million 

$490 million 



	

	B)
$1,665 million 

$420 million 



	C)
$1,735 million 

$490 million 




The correct answer was A. 

Current assets are equal to $1,665 ($275 cash and equivalents + $1,150 accounts receivable + $240 inventory). Working capital (current assets minus current liabilities) is equal to $490 ($1,665 current assets – $225 accounts payable – $830 accrued expenses – $120 current portion of long-term debt). 

7. Question ID#: 97901  bal sheet – current liab

Do the following characteristics have to be met in order to classify a liability as current on the balance sheet? 

Characteristic #1 – Settlement is expected within one year or operating cycle, whichever is less. 
Characteristic #2 – Settlement will require the use of cash within one year or operating cycle, whichever is greater. 

	
	Characteristic #1 
	Characteristic #2 


	A)
	No 

No 



	

	B)
Yes 

No 



	C)
No 

Yes 




The correct answer was A. 

A current liability is expected to be settled within one year or operating cycle, whichever is greater. It is not necessary to settle a current liability with cash. There are a number of ways to settle a current liability. For example, unearned revenue is a liability that is settled by providing goods or services. 

8. Question ID#: 98138  bal sheet – assets (fv + tang/intang)

Are the following essential characteristics of an asset?

	Characteristic #1:
	The asset provides future economic benefits as a result of past transactions.

	Characteristic #2:
	The asset is tangible and is obtained at a cost. 

 


	
	Characteristic #1 
	Characteristic #2 


	A)
	Yes 

No 



	

	B)
Yes 

Yes 



	C)
No 

No 




The correct answer was A. 

An asset provides future economic benefits as a result of past transactions. Assets can be tangible or intangible. In some cases, assets are acquired without cost, but will be reported to the extent that they will provide future economic benefit, and thus have value. 

9. Question ID#: 98034  bal sheet – accrual accounting

Bug-Be-Gone is a residential pest control company that offers a 12 month home-service contract to eliminate insect infestation. Customers are required to prepay for the service at the beginning of each year. If Bug-Be-Gone erroneously records these payments as revenue and include the estimated cost of performing the service, what is the most likely effect on the firm’s liabilities and equity compared to the correct treatment? 

	
	Liabilities 
	Equity 


	A)
	Understated 

Overstated 



	

	B)
Overstated 

Overstated 



	C)
Overstated 

Understated 




The correct answer was A. 

When payment is received, the firm has an obligation to provide the service. This obligation is reported as a liability ‘unearned revenue’ as a liability, offsetting the increase in cash. If they book the revenue and estimated expenses of providing the service this will overstate equity (assuming revenue greater than expected expense) and liabilities will be understated. 

10. Question ID#: 98033  bal sheet – accrual accounting

When a firm recognizes revenue in excess of expenses on a product not covered by a warranty before cash is collected, what is the impact on the firm’s assets and liabilities, ignoring taxes? 

	
	Assets 
	Liabilities 


	A)
	Increase 

No effect 



	

	B)
Increase 

Increase 



	C)
No effect 

Increase 




The correct answer was A. 

When a firm recognizes revenue before cash is collected, equity increases (retained earnings) and assets increase (accounts receivable). Liabilities would not be affected. 
Chapter 3: Working With Financial Statements
1.Question ID#: 97335  Common-size bal sheet

Common size balance sheets express all balance sheet accounts as a percentage of:

	A)
	total assets.



	

	B)
stockholders equity.



	C)
total liabilities.




The correct answer was A. 

Common size statements normalize balance sheet and income statements and allow the analyst to make easier comparisons of different sized firms.  A common size balance sheet expresses all balances as a percentage of total assets.  

2. Question ID#: 97314  Debt-equity ratio

The following data is from Delta's common size financial statement:

	Earnings after taxes
	18%

	Equity
	40%

	Current assets
	60%

	Current liabilities
	30%

	Sales
	$300

	Total assets
	$1,400


What is Delta's total-debt-to-equity ratio?

	A)
	1.5.



	

	B)
1.0.



	C)
2.0.




The correct answer was A. 

If equity = 40%, debt must = 60%, thus 60 / 40 = 1.5. 

3.Question ID#: 97305  Common-size bal sheet

Common size balance sheets express all balance sheet items as a percentage of:

	A)
	assets.



	

	B)
sales.



	C)
equity.




The correct answer was A. 

Common size balance sheets express all balance sheet items as a percentage of assets. Note that common size income statements express all income statement items as a percentage of sales.

4. Question ID#: 97345  current ratio/accrual accting

Coleman Corporation’s unadjusted trial balance at the end of 2007 reflected compensation expense of $90 million. The trial balance did not include the following: 

· Because of the holidays, no salary accrual was made for the last week of the year. Salaries for the last week totaled $3.5 million and were paid on January 4, 2008. 

· Employee bonuses for 2007 totaled $5 million. The bonuses were paid on January 31, 2008. 

Ignoring payroll taxes, what is Coleman’s adjusted compensation expense for the year ended 2007 and what impact will the adjustment have on Coleman’s 2007 current ratio? 

	
	Compensation expense 
	Current ratio 


	A)
	$98.5 million 

Decrease 



	

	B)
$94.5 million 

Decrease 



	C)
$98.5 million 

No effect 




The correct answer was A. 

Because of the matching principle, compensation expense should be increased by the (accrued) salary expense for the last week of 2007 and the liability for the bonuses was incurred in 2007. Thus, total compensation expense for 2007 is $98.5 million ($90 million unadjusted compensation expense + $3.5 million salary accrual + $5 million bonus accrual). Since the salaries and bonuses were not paid in 2007, accrued liabilities would increase by $8.5 million. An increase in accrued liabilities, a current liability, would decrease the current ratio. 
5. Question ID#: 97739  Common-size inc stmt

Common size income statements express all income statement items as a percentage of:

	A)
	sales.



	

	B)
net income.



	C)
assets.




The correct answer was A. 

Common size income statements express all income statement items as a percentage of sales. Note that common size balance sheets express all balance sheet accounts as a percentage of total assets.

6. Question ID#: 97307  cash flow / fin stmts

Maverick Company reported the following financial information for 2007:

	
	in millions 

	Beginning accounts receivable 
	$180 

	Ending accounts receivable 
	225 

	Sales 
	11,000 

	Beginning inventory 
	2,000 

	Ending inventory 
	2,300 

	Purchases 
	8,100 

	Beginning accounts payable 
	1,600 

	Ending accounts payable 
	1,200 


Calculate Maverick’s cost of goods sold and cash paid to suppliers for 2007.

	
	Cost of goods sold 
	Cash paid to suppliers 


	A)
	$7,800 million 

$8,500 million 



	

	B)
$7,800 million 

$7,100 million 



	C)
$3,800 million 

$8,500 million 




The correct answer was A. 

Cost of goods sold is equal to $7,800 million ($2,000 million beginning inventory + $8,100 million purchases – $2,300 million ending inventory). Cash paid to suppliers is equal to $8,500 million (–$7,800 COGS – $300 million increase in inventory – $400 million decrease in accounts payable). Alternate solution: Cash paid to suppliers is equal to $8,500 million (–$8,100 million purchases – $400 decrease in accounts payable). 
7. Question ID#: 95134  ratios

Which of the following best describes a ratio that measures a firm’s ability to acquire long-term assets with cash flows from operations, and a performance ratio, respectively?

	
	Acquire assets with CFO 
	Performance ratio 


	A)
	Reinvestment ratio 

Cash-to-income ratio 



	

	B)
Investing and financing ratio 

Cash-to-income ratio 



	C)
Reinvestment ratio 

Debt payment ratio 




The correct answer was A. 

The reinvestment ratio measures a firm’s ability to acquire long-term assets with cash flows from operations. In contrast, the investing and financing ratio, which is more comprehensive, measures the firm’s ability to purchase assets, satisfy debts, and pay dividends.

The cash-to-income ratio measures the ability to generate cash from a firm’s operations and is a performance ratio for cash flow analysis purposes. The debt payment ratio measures the firm’s ability to satisfy long-term debt with cash flow from operations but it is more of a coverage ratio than a performance ratio.

8. Question ID#: 96602  ratio analysis

An analyst computes the following ratios for Iridescent Carpeting Inc. and compares the results to the industry averages:

	Financial Ratio
	Iridescent Carpeting
	Industry Average

	Current Ratio
	2.3x
	1.8x

	Net Profit Margin
	22%
	24%

	Return on Equity
	17%
	20%

	Total Debt / Total Capital
	35%
	56%

	Times Interest Earned 
	4.7x 
	4.1x


Based on the above data, which of the following can the analyst conclude? Iridescent Carpeting:

	A)
	has better short-term liquidity than its competitors.



	

	B)
has stronger profitability than its competitors.



	C)
is most likely a younger company than its competitors.




The correct answer was A. 

Based on the data provided, the analyst can conclude that Iridescent Carpeting has weaker profitability than its competitors based on the net profit margin and return on equity. The analyst can also conclude that the company has less financial leverage (risk) than the industry average based on the total debt / total capital and the times interest earned ratios. The analyst can conclude that the company has better short-term liquidity than the industry average (i.e., its competitors) based on the current ratio. 

Question ID#: 96543  Du Pont identity

Which of the following ratios is NOT part of the original DuPont system? 

	A)
	Debt to total capital.



	

	B)
Asset turnover.



	C)
Equity multiplier.




The correct answer was A. 

The debt to total capital ratio is not part of the original DuPont system. The firm’s leverage is accounted for through the equity multiplier. 

9. Question ID#: 96535  Du Pont identity

	Ratio 
	2003 
	2004 

	Net profit margin 
	0.15 
	0.18 

	Total asset turnover 
	1.60 
	1.75 

	Financial leverage multiplier 
	1.00 
	1.50 


The return on equity (ROE) for 2003 and 2004 respectively is: 

	A)
	24% and 47%. 



	

	B)
24% and 8%. 



	C)
8% and 24%. 




The correct answer was A. 

ROE for 2003: 0.15 × 1.6 × 1.0 = 24%. Similarly, for 2004, ROE will be 47%. 



If the company’s net profit margin declines to 0.10 in 2005, what total asset turnover would be needed in order to maintain the same ROE as in 2004, assuming there is no change in the financial leverage multiplier? 

	A)
	3.15. 



	

	B)
2.50. 



	C)
1.50. 




The correct answer was A. 

ROE for 2005 can be computed as follows: 0.1 × asset turnover × 1.5 = 0.4725. Hence, desired asset turnover will be 3.15. 

10. Question ID#: 97937  Du Pont identity

Michael Kim, CFA and Michael Ng, CPA have been discussing issues related to a firm’s return on equity (ROE) and cash management policies. During this discussion, Kim made a statement that Ng believed to be wrong. Which of the following is most likely the statement that Ng found to be inaccurate? 

	A)
	“An increase in a firm’s total asset turnover will tend to decrease its ROE.”



	

	B)
“A decrease in a firm’s profit margin will tend to decrease its ROE.”



	C)
“An increase in a firm’s receivables turnover can be the result of a decrease in its average receivables.”




The correct answer was A. 

ROE = net income ÷ average shareholders’ equity. The DuPont breakdown of ROE shown below indicates that an increase in total asset turnover will increase ROE and a decrease in profit margin will decrease ROE.

[image: image1]<> 

The general formula for the quick ratio is (current assets – inventory) ÷ current liabilities, where it can be seen that an increase in current liabilities will decrease the quick ratio.

The general formula for the receivables turnover is net annual sales ÷ average receivables, where it can be seen that a decrease in average receivables will increase receivables turnover.

Chapter 4: Long-Term Financial Planning and Growth
1.Question ID#: 96621  lt cf forecast

Projected net capital expenditures and financing decisions are most important as a component of a firm’s: 

	A)
	long-term cash flow forecast. 



	

	B)
pro-forma income statement.



	C)
expected operating cash flows.




The correct answer was A. 

Long-term cash flow forecasts are derived from projected income statements and balance sheets for future years that are based on statistical models of sales, credit collections, and input costs, as well as planned capital expenditures, asset sales, and financings. Pro-forma income statements can be affected by projected capital expenditures (through expected depreciation expense) and financing (through interest expense) but long-term cash flow forecasts are more directly affected by expected capital expenditures and financing activities. Operating cash flows are not directly affected by financing and capital spending decisions (only indirectly through interest and taxes), which are classified as financing and investing activities, not operating activities. 
2. Question ID#: 96620  pro forma

Which of the following statements regarding long-term forecasts of cash flows is most accurate? Long-term cash flow forecasts are: 

	A)
	based on pro-forma balance sheet projections for future years.



	

	B)
constructed from recent daily and weekly cash flows.



	C)
are constructed without considering future financing decisions.




The correct answer was A. 

Long-term forecasts are derived from projected income statements and balance sheets for future years that are based on statistical models of sales, credit collections, and input costs as well as planned capital expenditures, asset sales, and financings. 

3. Question ID#: 97850  financial planning models

Jane Epworth, CFA, is preparing pro forma financial statements for Gavin Industries, a mature U.S. manufacturing firm with three distinct geographic divisions in the Midwest, South and West. Epworth prepares estimates of sales for each of Gavin’s divisions using economists’ estimates of next-period GDP growth and sums the three estimates to forecast Gavin’s sales. Epworth’s approach to estimating Gavin’s sales is: 

	A)
	appropriate.



	

	B)
inappropriate, because sales should be forecast on a firm-wide basis and are unlikely to be related to GDP growth.



	C)
inappropriate, because sales should be forecast on a firm-wide basis.




The correct answer was A. 

Sales estimates can be more sophisticated than simply estimating a single growth rate. One common approach is to estimate the linear relationship between sales growth and economic growth and use this relationship to estimate sales growth based on economists’ forecasts of GDP growth. Segment-by-segment analysis can also be applied, summing segment or division sales forecasts to produce an overall sales forecast for the firm. 
4. Question ID#: 97912  pro formas / EFN

A firm has a capital structure of 60% debt and 40% equity and a dividend payout ratio of 50%. If a surplus results from first-pass pro forma financial statements based on estimated sales growth and assuming the capital structure and dividend payout ratio are maintained, which of the following changes in assumptions would eliminate any surplus in a single step? 

	A)
	The entire surplus will be used to repurchase common stock.



	

	B)
The entire surplus will be used to pay down long-term debt.



	C)
No change in assumptions is necessary.




The correct answer was A. 

If the entire surplus is used to repurchase common stock, total equity would be reduced by the amount of the surplus without affecting any of the other projected balance sheet or income statement items. This would balance assets with liabilities and equity without further iterations. If any of the surplus is used to pay down long-term debt, interest expense and taxes would change, requiring more iterations to reconcile the pro forma financial statements. To reconcile the pro forma statements in a single step by changing the dividend payout ratio, it would have to increase enough so that the entire surplus would be paid as additional dividends. 
5. Question ID#: 97834  percentage of sales approach

Which item is least likely assumed to be a constant percentage of sales on a pro forma balance sheet? 

	A)
	Long-term debt.



	

	B)
Property, plant and equipment.



	C)
Inventory.




The correct answer was A. 

The projected level of long-term debt will depend on the financing need or surplus that results from the net income projection and the assumptions about how the surplus will be used or the need will be financed. Current assets, long-term assets, and current liabilities are all more likely to grow proportionately with sales. 

6. Question ID#: 96199  sustainable growth rate

When a company’s return on equity (ROE) is 12% and the dividend payout ratio is 60%, what is the implied sustainable growth rate of earnings and dividends? 

	A)
	4.8%.



	

	B)
4.0%.



	C)
7.8%.




The correct answer was A. 

g = ROE × retention ratio = ROE × (1 – payout ratio) = 12 (0.4) = 4.8% 
7. Question ID#: 96218  sustainable growth rate

A company’s required return on equity is 15% and its dividend payout ratio is 55%. If its return on equity (ROE) is 17% and its beta is 1.40, then its sustainable growth rate is closest to: 

	A)
	7.65%



	

	B)
6.75%



	C)
9.35%




The correct answer was A. 

Growth rate = (ROE)(Retention Ratio)

= (0.17)(0.45)

= 0.0765 or 7.65%

8. Question ID#: 96222  sustainable growth rate

If a firm’s growth rate is 12% and its dividend payout ratio is 30%, its current return on equity (ROE) is closest to: 

	A)
	17.14%



	

	B)
40.00%



	C)
36.00%




The correct answer was A. 

g = (RR)(ROE)

g / RR = ROE

.12 / (1 - 0.30) = .12 / 0.70 = 0.1714 or 17.14%

9. Question ID#: 96226  sustainable growth rate

A company with a return on equity (ROE) of 27%, required return on equity (ke) of 20%, and a dividend payout ratio of 40% has an implied sustainable growth rate closest to: 

	A)
	16.20%



	

	B)
12.00%



	C)
10.80%




The correct answer was A. 

g = (RR)(ROE)

= (.60)(.27)

= 0.162 or 16.2%

10. Question ID#: 96227  retention ratio / CAPM

An analyst has gathered the following data about a firm:

· dividend payout ratio is 45%. 

· beta is 1.50. 

· risk-free rate is 6.5%. 

· expected market return is 15%. 

If the firm earned $5.00 per share in the most recent twelve months, what is the company’s retention ratio?

	A)
	55.00%.



	

	B)
Not enough information given.



	C)
21.50%.




The correct answer was A. 

RR = 1 − dividend payout ratio = 1 − 0.45 = 0.55



Based on the information given in the question above, what is the firm’s CAPM required return on equity? 

	A)
	19.25%.



	

	B)
29.00%.



	C)
None of these answers are correct.




The correct answer was A. 

CAPM = Risk Free Rate + Beta (Market Return − Risk Free Rate)

= 6.5 + (1.50)(15 − 6.5)

= 6.5 + 12.75

= 19.25

Chapter 5: Introduction to Valuation: The Time Value of Money
1. Question ID#: 93706  discount rate

Selmer Jones has just inherited some money and wants to set some of it aside for a vacation in Hawaii one year from today. His bank will pay him 5% interest on any funds he deposits. In order to determine how much of the money must be set aside and held for the trip, he should use the 5% as a: 

	A)
	discount rate.



	

	B)
required rate of return.



	C)
opportunity cost.




The correct answer was A. 

He needs to figure out how much the trip will cost in one year, and use the 5% as a discount rate to convert the future cost to a present value. Thus, in this context the rate is best viewed as a discount rate. 

2. Question ID#: 93794  FV

What will $10,000 become in 5 years if the annual interest rate is 8%, compounded monthly? 

	A)
	$14,898.46.



	

	B)
$14,693.28.



	C)
$14,802.44.




The correct answer was A. 

FV(t=5) = $10,000 × (1 + 0.08 / 12)60 = $14,898.46 

N = 60 (12 × 5); PV = -$10,000; I/Y = 0.66667 (8% / 12months); CPT → FV = $14,898.46 

3. Question ID#: 93790  PV

If a person needs $20,000 in 5 years from now and interest rates are currently 6% how much do they need to invest today if interest is compounded annually? 

	A)
	$14,945.



	

	B)
$14,683.



	C)
$15,301.




The correct answer was A. 

PV = FV / (1 + r)n = 20,000 / (1.06)5 = 20,000 / 1.33823 = $14,945

N = 5; I/Y = 6%; PMT = 0; FV = $20,000; CPT → PV = -$14,945.16

4. Question ID#: 93766  FV

An investor deposits $10,000 in a bank account paying 5% interest compounded annually. Rounded to the nearest dollar, in 5 years the investor will have: 

	A)
	$12,763.



	

	B)
$12,500.



	C)
$10,210.




The correct answer was A. 

PV = 10,000; I/Y = 5; N = 5; CPT → FV = 12,763.

or: 10,000(1.05)5 = 12,763.

5. Question ID#: 93886   FV

A local bank offers a certificate of deposit (CD) that earns 5.0% compounded quarterly for three and one half years. If a depositor places $5,000 on deposit, what will be the value of the account at maturity? 

	A)
	$5,949.77.



	

	B)
$5,931.06.



	C)
$5,875.00.




The correct answer was A. 

The value of the account at maturity will be: $5,000 × (1 + 0.05 / 4)(3.5 × 4) = $5.949.77;
or with a financial calculator: N = 3 years × 4 quarters/year + 2 = 14 periods; I = 5% / 4 quarters/year = 1.25; PV = $5,000; PMT = 0; CPT → FV = $5,949.77.

6. Question ID#: 93874  PV

Given a 5% discount rate, the present value of $500 to be received three years from today is: 

	A)
	$432.



	

	B)
$400.



	C)
$578.




The correct answer was A. 

N = 3; I/Y = 5; FV = 500; PMT = 0; CPT → PV = 431.92.

or: 500/1.053 = 431.92. 

7. Question ID#: 93858  PV

A certain investment product promises to pay $25,458 at the end of 9 years. If an investor feels this investment should produce a rate of return of 14%, compounded annually, what’s the most he should be willing to pay for it?

	A)
	$7,829.



	

	B)
$9,426.



	C)
$7,618.




The correct answer was A. 

N = 9; I/Y = 14; FV = -25,458; PMT = 0; CPT → PV = $7,828.54.

or: 25,458/1.149 = 7,828.54 

8. Question ID#: 93853  FV

A $500 investment offers a 7.5% annual rate of return. How much will it be worth in four years? 

	A)
	$668.



	

	B)
$892.



	C)
$650.




The correct answer was A. 

N = 4; I/Y = 7.5; PV = –500; PMT = 0; CPT → FV = 667.73.

or: 500(1.075)4 = 667.73 
9. Question ID#: 93840  FV

If $10,000 is invested in a mutual fund that returns 12% per year, after 30 years the investment will be worth: 

	A)
	$299,599.



	

	B)
$10,120.



	C)
$300,000.




The correct answer was A. 

FV = 10,000(1.12)30 = 299,599

Using TI BAII Plus: N = 30; I/Y = 12; PV = -10,000; CPT → FV = 299,599.

Chapter 6: Discounted Cash Flow Valuation
1. Question ID#: 93642  annuity vs annuity due

Concerning an ordinary annuity and an annuity due with the same payments and positive interest rate, which of the following statements is most accurate? 

	A)
	The present value of the ordinary annuity is less than an annuity due.



	

	B)
The present value of the ordinary annuity is greater than an annuity due.



	C)
There is no relationship.




The correct answer was A. 

With a positive interest rate, the present value of an ordinary annuity is less than the present value of an annuity due. The first cash flow in an annuity due is at the beginning of the period, while in an ordinary annuity, the first cash flow occurs at the end of the period. Therefore, each cash flow of the ordinary annuity is discounted one period more. 

2. Question ID#: 93638  FV annuity

If $2,500 were put into an account at the end of each of the next 10 years earning 15% annual interest, how much would be in the account at the end of ten years?

	A)
	$50,759.



	

	B)
$41,965.



	C)
$27,461.




The correct answer was A. 

N = 10; I = 15; PMT = 2,500; CPT → FV = $50,759.

3. Question ID#: 93630  PV annuity

An investor will receive an annuity of $5,000 a year for seven years. The first payment is to be received 5 years from today. If the annual interest rate is 11.5%, what is the present value of the annuity? 

	A)
	$15,000.



	

	B)
$13,453.



	C)
$23,185.




The correct answer was A. 

With PMT = 5,000; N = 7; I/Y = 11.5; value (at t = 4) = 23,185.175. Therefore, PV (at t = 0) = 23,185.175 / (1.115)4 = $15,000.68. 

4. Question ID#: 93624  PV annuity due

An investor wants to receive $1,000 at the beginning of each of the next ten years with the first payment starting today. If the investor can earn 10 percent interest, what must the investor put into the account today in order to receive this $1,000 cash flow stream? 

	A)
	$6,759.



	

	B)
$6,145.



	C)
$7,145.




The correct answer was A. 

This is an annuity due problem. There are several ways to solve this problem.

Method 1:

PV of first $1,000 = $1,000
PV of next 9 payments at 10% = 5,759.02
Sum of payments = $6,759.02 

Method 2:

Put calculator in BGN mode.
N = 10; I = 10; PMT = -1,000; CPT → PV = 6,759.02
Note: make PMT negative to get a positive PV. Don’t forget to take your calculator out of BGN mode. 

Method 3:

You can also find the present value of the ordinary annuity $6,144.57 and multiply by 1 + k to add one year of interest to each cash flow. $6,144.57 × 1.1 = $6,759.02. 

5. Question ID#: 93609  FV annuity

If $2,000 a year is invested at the end of each of the next 45 years in a retirement account yielding 8.5%, how much will an investor have at retirement 45 years from today? 

	A)
	$901,060.



	

	B)
$100,135.



	C)
$90,106.




The correct answer was A. 

N = 45; PMT = –2,000; PV = 0; I/Y = 8.5%; CPT → FV = $901,060.79. 

6. Question ID#: 93605  FV annuity - # of years calc

If an investor puts $5,724 per year, starting at the end of the first year, in an account earning 8% and ends up accumulating $500,000, how many years did it take the investor? 

	A)
	27 years.



	

	B)
87 years.



	C)
26 years.




The correct answer was A. 

I/Y = 8; PMT = -5,724; FV = 500,000; CPT → N = 27.

Remember, you must put the pmt in as a negative (cash out) and the FV in as a positive (cash in) to compute either N or I/Y.

7. Question ID#: 93590  PV annuity

Justin Banks just won the lottery and is trying to decide between the annual cash flow payment option or the lump sum option. He can earn 8% at the bank and the annual cash flow option is $100,000/year, beginning today for 15 years. What is the annual cash flow option worth to Banks today? 

	A)
	$924,423.70.



	

	B)
$855,947.87.



	C)
$1,080,000.00.




The correct answer was A. 

First put your calculator in the BGN.

N = 15; I/Y = 8; PMT = 100,000; CPT → PV = 924,423.70.

Alternatively, do not set your calculator to BGN, simply multiply the ordinary annuity (end of the period payments) answer by 1 + I/Y. You get the annuity due answer and you don’t run the risk of forgetting to reset your calculator back to the end of the period setting. 

OR N = 14; I/Y = 8; PMT = 100,000; CPT → PV = 824,423.70 + 100,000 = 924,423.70. 

8. Question ID#: 93570  PV annuity due

What is the present value of a 10-year, $100 annual annuity due if interest rates are 0%? 

	A)
	$1,000.



	

	B)
$900.



	C)
No solution.




The correct answer was A. 

When I/Y = 0 you just sum up the numbers since there is no interest earned. 

9. Question ID#: 93559  FV annuity

Personal Advisers, Inc., has determined four possible economic scenarios and has projected the portfolio returns for two portfolios for their client under each scenario. Personal’s economist has estimated the probability of each scenario as shown in the table below. Given this information, what is the covariance of the returns on Portfolio A and Portfolio B? 

	Scenario 
	Probability 
	Return on Portfolio A 
	Return on Portfolio B 

	A 
	15% 
	18% 
	19% 

	B 
	20% 
	17% 
	18% 

	C 
	25% 
	11% 
	10% 

	D 
	40% 
	7% 
	9% 

	A)
0.001898.



	B)
0.890223.



	C)
0.002019.




The correct answer was A. 

	S 
	P (S) 
	Return on Portfolio A 
	RA – E(RA) 
	Return on Portfolio B 
	RB – E(RB) 
	[RA – E(RA)]
x [RB – E(RB)]
x P(S) 

	A 
	15% 
	18% 
	6.35% 
	19% 
	6.45% 
	0.000614 

	B 
	20% 
	17% 
	5.35% 
	18% 
	5.45% 
	0.000583 

	C 
	25% 
	11% 
	–0.65% 
	10% 
	–2.55% 
	0.000041 

	D 
	40% 
	7% 
	–4.65% 
	9% 
	–3.55% 
	0.000660 

	
	
	E(RA) =11.65% 
	
	E(RB) =12.55% 
	
	Cov(RA,RB) =0.001898 


10. Question ID#: 93549  PV annuity

If 10 equal annual deposits of $1,000 are made into an investment account earning 9% starting today, how much will you have in 20 years? 

	A)
	$39,204.



	

	B)
$35,967.



	C)
$42,165.




The correct answer was A. 

Switch to BGN mode. PMT = –1,000; N = 10, I/Y = 9, PV = 0; CPT → FV = 16,560.29. Remember the answer will be one year after the last payment in annuity due FV problems. Now PV10 = 16,560.29; N = 10; I/Y = 9; PMT = 0; CPT → FV = 39,204.23. Switch back to END mode. 

11. Question ID#: 93778  PV annuity – unequal CFs

How much would the following income stream be worth assuming a 12% discount rate?

· $100 received today. 

· $200 received 1 year from today. 

· $400 received 2 years from today. 

· $300 received 3 years from today. 

	A)
	$810.98.



	

	B)
$721.32.



	C)
$1,112.44.




The correct answer was A. 

	N
	i
	FV
	PV

	0
	12
	100
	100.00

	1
	12
	200
	178.57

	2
	12
	400
	318.88

	3
	12
	300
	213.53

	
	
	
	810.98


12. Question ID#: 93894  amortized loan calc

Marc Schmitz borrows $20,000 to be paid back in four equal annual payments at an interest rate of 8%. The interest amount in the second year’s payment would be: 

	A)
	$1244.90.



	

	B)
$6038.40.



	C)
$1116.90.




The correct answer was A. 

With PV = 20,000, N = 4, I/Y = 8, computed Pmt = 6,038.42. Interest (Yr1) = 20,000(0.08) = 1600. Interest (Yr2) = (20,000 − (6038.42 − 1600))(0.08) = 1244.93 

 13. Question ID#: 93899  amortized loan / mortgage PMT calc

Which of the following statements about compounding and interest rates is least accurate? 

	A)
	All else equal, the longer the term of a loan, the lower will be the total interest you pay.



	

	B)
Present values and discount rates move in opposite directions.



	C)
On monthly compounded loans, the effective annual rate (EAR) will exceed the annual percentage rate (APR).




The correct answer was A. 

Since the proportion of each payment going toward the principal decreases as the original loan maturity increases, the total dollars interest paid over the life of the loan also increases. 

Chapter 7: Interest Rates and Bond Valuation
1. Question ID#: 96304  DDM / fischer effect

Which of the following statements concerning security valuation is least accurate? The: 

	A)
	real risk-free rate is the nominal risk-free rate times the expected inflation rate.



	

	B)
required rate of return for the dividend discount model is influenced by inflation.



	C)
dividend discount model assumes that the required rate of return is greater than the growth rate of the company's dividend.




The correct answer was A. 

The real risk-free rate equals (1 + nominal risk-free rate) / (1 + expected inflation rate) minus one. 

2. Question ID#: 96309  fischer effect

If the real risk-free rate is 5%, and the expected rate of inflation is 1%, what is the estimated nominal risk-free rate? 

	A)
	6.05%.



	

	B)
0.02%.



	C)
4.00%.




The correct answer was A. 

The nominal risk free rate = (1 + Real risk-free rate)(1+ Expected Inflation) – 1, (1.05) x (1.01)-1 = 6.05%. 

. 
3. Question ID#: 98054  PV of bond

Interest rates have fallen over the seven years since a $1,000 par, 10-year bond was issued with a coupon of 7%. What is the present value of this bond if the required rate of return is currently four and one-half percent? (For simplicity, assume annual payments.) 

	A)
	$1,068.72



	

	B)
$1,052.17.



	C)
$1,044.33.




The correct answer was A. 

Each of the remaining cash flows on the bond is discounted at the annual rate of 4.5%. 
	Period 
	Payment 
	Discount 
	PV 

	 1 
	$1,000 × 7% = $70 
	(1.045)1 
	$ 66.99 

	 2 
	$1,000 × 7% = $70 
	(1.045)2 
	$ 64.10 

	 3 
	$1,000 × 7% = $70 
	(1.045)3 
	$ 61.34 

	 3 
	$1,000 principle 
	(1.045)3 
	$ 876.30 

	Total Present Value of Cash Flows 
	$1,068.73 


The present value can also be determined with a financial calculator. N = 3, I = 4.5%, PMT = $1,000 × 7%, FV = $1,000. Solve for PV = $1,068.724. 

4. Question ID#: 97714  coupon amt.

A bond has a par value of $5,000 and a coupon rate of 8.5% payable semi-annually. The bond is currently trading at 112.16. What is the dollar amount of the semi-annual coupon payment? 

	A)
	$212.50.



	

	B)
$238.33.



	C)
$425.00.




The correct answer was A. 

The dollar amount of the coupon payment is computed as follows:

Coupon in $ = $5,000 × 0.085 / 2 = $212.50

5. Question ID#: 97701  T-notes

Which one of the following alternatives represents the correct series of payments made by a typical 6% U.S. Treasury note with a par value of $100,000 issued today with five years to maturity?

	
	Number and size of each intermediate payment 
	Payment made at maturity 


	A)
	9 semiannual payments of $3,000 

$103,000 



	

	B)
4 annual payments of $6,000 

$106,000 



	C)
9 semiannual payments of $3,000 

$100,000 




The correct answer was A. 

Payments for U.S. Treasury bonds and notes are semiannual and are fixed for the life of each bond or note. The coupon rate is quoted on an annual basis but each payment is made on the basis of one half the annual rate multiplied by the maturity or par value. 

6. Question ID#: 97594  zero coupon bonds

Which of the following statements about zero-coupon bonds is FALSE? 

	A)
	A zero coupon bond may sell at a premium to par when interest rates decline.



	

	B)
The lower the price, the greater the return for a given maturity.



	C)
All interest is earned at maturity.




The correct answer was A. 

Zero coupon bonds always sell below their par value, or at a discount prior to maturity. The amount of the discount may change as interest rates change, but a zero coupon bond will always be priced less than par.

7. Question ID#: 96689  Floating-rate

Consider a floating rate issue that has a coupon rate that is reset on January 1 of each year. The coupon rate is defined as one-year London Interbank Offered Rate (LIBOR) + 125 basis points and the coupons are paid semi-annually. If the one-year LIBOR is 6.5% on January 1, which of the following is the semi-annual coupon payment received by the holder of the issue in that year? 

	A)
	3.875%.



	

	B)
3.250%.



	C)
7.750%.




The correct answer was A. 

This value is computed as follows:

Semi-annual coupon = (LIBOR + 125 basis points) / 2 = 3.875%

8. Question ID#: 96451  call provision

Which of the following statements is FALSE? Compared to a callable bond, a noncallable bond:

	A)
	provides a higher yield.



	

	B)
is more attractive to an investor concerned with reinvestment risk. 



	C)
has more predictable cash flows.




The correct answer was A. 

When compared to a callable bond, the yield on a noncallable bond is less. With a noncallable bond, the issuer does not have to compensate the investor for call risk/cash flow uncertainty with any premium. The other choices are true. Call risk is the combination of cash flow uncertainty and reinvestment risk. When a bond is called, the investor faces a disruption in cash flow and a reduced rate of return. 

9. Question ID#: 97371  inflation premium

Which of the following investors is least susceptible to inflation risk? 

	A)
	The holder of a 15-year bond with a coupon formula equal to the U.S. prime rate plus 3.25%.



	

	B)
An individual with a 5 year certificate of deposit at a local financial institution.



	C)
A financial institution with assets concentrated in fixed-rate mortgages.




The correct answer was A. 

A 15-year bond with a coupon formula equal to the U.S. prime rate plus 3.25% is an example of a floating rate bond. The holder of an adjustable rate asset is impacted less by inflation than the holder of a fixed-rate asset because the increased cash flow (from the higher coupon payments when the base rate increases) at least partially offsets the decreased purchasing power caused by inflation.

The other two choices are examples of investors more susceptible to inflation - those who hold long-term contracts in which they are to receive a fixed payment. 

10. Question ID#: 97136  real return

One year ago, Makato Omura purchased a 6.50% fixed coupon bond for 98.50. Recently, she sold the bond for 99.25 and calculated her return at 7.4%. Her friend, Takanino Takemiya, CFA, reminds Omura that this is the nominal return and that to calculate the real return, she needs to factor in the inflation rate over the holding period. If the price index for the current year is 118.5 and the price index one year ago was 115.9, Omura’s real return is closest to:

	A)
	5.2%.



	

	B)
9.6%.



	C)
6.3%.




The correct answer was A. 

Omura’s real return is approximated by subtracting the inflation rate from the calculated (nominal) return. As indicated in the preliminary reading for Study Session 4, LOS 1.B.e, the inflation rate is calculated using the formula:

Inflation = (Price Indexthis year – Price Indexlast year) / Price Indexlast year 

Here, inflation = (118.5 – 115.9) / 115.9 = 0.0224, or approximately 2.2%.

Thus, the real return = 7.4% - 2.2% = 5.2%. 

11. Question ID#: 97634  inflation risk

Which of the following investors faces the least inflation risk? An investor whose portfolio is concentrated in:

	A)
	equity securities.



	

	B)
long-term treasury bonds.



	C)
fixed-rate certificates of deposit.




The correct answer was A. 

Inflation risk refers to the possibility that prices of general goods and services will increase in the economy. Empirical evidence shows that equity securities, or stocks, have the least inflation risk of the investments listed here. Since fixed coupon bonds pay a constant coupon, increasing prices erode the buying power associated with bond payments. Fixed-rate certificates of deposit have high inflation risk.

12. Question ID#: 96836  yield curve

Which of the following statements about the yield curve is TRUE?

	A)
	In a typical upward sloping yield curve, short and intermediate term rates are lower than long term rates.



	

	B)
Parallel shifts in the yield curve are not of concern to bond investors.



	C)
If long-term rates are low, the present value of cash flows far into the future will be low,and the bond's value will be low.




The correct answer was A. 

The statement, "If long-term rates are low, the present value of cash flows far into the future will be low,and the bond’s value will be low," should read, "If long-term rates are low, the present value of cash flows far into the future will be high,and the bond’s value will be high." The value of a bond is comprised of discounted cash flows, and a lower discount rate translates to higher cash flows. Any shift in the yield curve creates uncertainty and is of concern to bond investors. 

13. Question ID#: 96578  term structure of interest rates

The structure of interest rates results from all the following EXCEPT:

	A)
	creating the yield curve by plotting term to maturity against the coupon rate.



	

	B)
assuming that individual discount rates do not change by the same amount.



	C)
viewing each bond coupon payment as a separate zero coupon bond.




The correct answer was A. 

The yield curve plots term to maturity and yield to maturity. The other choices are true.

14. Question ID#: 96070  bond valuation

A bond is issued with the following data:

· $10 million face value. 

· 9% coupon rate. 

· 8% market rate. 

· 3-year bond with semiannual payments. 

What is the present value of the bond?

	A)
	$10,262,107.



	

	B)
$10,138,754.



	C)
$10,000,000.




The correct answer was A. 

FV = 10,000,000; PMT = 450,000; I/Y = 4; N = 6; CPT → PV = -10,262,107

15. Question ID#: 95932  bond rate of return

If an investor purchases a 8 1/2s 2001 Feb. $10,000 par Treasury Note at 105:16 and holds it for exactly one year, what is the rate of return if the selling price is 105:16? 

	A)
	8.06%.



	

	B)
8.50%.



	C)
8.00%.




The correct answer was A. 

Purchase Price = [(105 + 16/32)/100] x 10,000 = $10,550.00 

Selling price = [(105 + 16/32)/100] x 10,000 = $10,550.00 

Interest = 8 1/2% of 10,000 = $850.00 

Return = (Pend - Pbeg + Interest)/Pbeg = (10,550.00 - 10,550.00 + 850.00)/10,550.00 = 8.06% 

16. Question ID#: 95928  risk free rate

Assuming the risk-free rate is 5% and the appropriate risk premium for a AAA-rated issuer is 4%, the appropriate discount rate for a 10-year Treasury note is: 

	A)
	5%.



	

	B)
4%.



	C)
9%.




The correct answer was A. 

For a 10-year treasury the relevant discount rate is the risk free rate. 

17. Question ID#: 96115  YTM calc

A bond with a 12% coupon, 10 years to maturity and selling at 88 has a yield to maturity of:

	A)
	over 14%.



	

	B)
between 13% and 14%.



	C)
between 10% and 12%.




The correct answer was A. 

PMT = 120; N = 10; PV = -880; FV = 1,000; CPT → I = 14.3

18. Question ID#: 96114  basic bond valuation

A coupon bond that pays interest annually has a par value of $1,000, matures in 5 years, and has a yield to maturity of 10%. What is the value of the bond today if the coupon rate is 8%? 

	A)
	$924.18.



	

	B)
$2,077.00.



	C)
$1,500.00.




The correct answer was A. 

FV = 1,000
N = 5
I = 10
PMT = 80
Compute PV = 924.18. 

Chapter 8: Stock Valuation
1. Question ID#: 97285  treasury stock/voting rights

Earlier this year, Slayton Corporation repurchased 5% of its total shares outstanding. At the time, the book value of Slayton shares exceeded their market value. The shares are expected to be reissued in the future when the market price of Slayton’s stock increases. Do Slayton’s repurchased shares continue to have voting rights and to pay cash dividends?

	
	Voting rights 
	Cash dividends paid 


	A)
	No 

No 



	

	B)
Yes 

No 



	C)
No 

Yes 




The correct answer was A. 

Repurchased stock that is not cancelled is called treasury stock. Treasury stock does not have voting rights and does not receive cash dividends. 
2. Question ID#: 96140 valuing preferred stock

A preferred stock’s dividend is $5 and the firm’s bonds currently yield 6.25%. The preferred shares are priced to yield 75 basis points below the bond yield. The price of the preferred is closest to: 

	A)
	$90.91.



	

	B)
$5.00. 



	C)
$80.00. 




The correct answer was A. 

Preferred stock yield (Kp) = bond yield – 0.75% = 6.25% − 0.75% = 5.5%

Value = dividend / Kp = $5 / 0.055 = $90.91.

3. Question ID#: 96390  valuing preferred stock

The preferred stock of the Delco Investments Company has a par value of $150 and a dividend of $11.50. A shareholder’s required return on this stock is 14%. What is the maximum price he would pay? 

	A)
	$82.14.



	

	B)
$150.00.



	C)
$54.76.




The correct answer was A. 

Value of preferred = D / kp = $11.50 / 0.14 = $82.14 
4. Question ID#: 96184  constant growth DDM

Which of the following statements about the constant growth dividend discount model (DDM) in its application to investment analysis is FALSE? The model: 

	A)
	is best applied to young, rapidly growing firms. 



	

	B)
can’t be applied when g>K. 



	C)
can’t handle firms with variable dividend growth. 




The correct answer was A. 

The model is most appropriately used when the firm is mature, with a moderate growth rate, paying a constant stream of dividends. In order for the model to produce a finite result, the company’s growth rate must not exceed the required rate of return. 
5. Question ID#: 96211  DDM – find disc rate

If a stock sells for $50 that has an expected annual dividend of $2 and has a sustainable growth rate of 5%, what is the market discount rate for this stock? 

	A)
	9.0%.



	

	B)
7.5%.



	C)
10.0%.




The correct answer was A. 

k = [(D1 / P) + g] = [(2/50) + 0.05] = 0.09, or 9.00%. 

6. Question ID#: 96248  DDM

The following data pertains to a common stock:

· It will pay no dividends for two years. 

· The dividend three years from now is expected to be $1. 

· Dividends are expected to grow at a 7% rate from that point onward.

If an investor requires a 17% return on this stock, what will they be willing to pay for this stock now?

	A)
	$ 7.30.



	

	B)
$10.00.



	C)
$ 6.24.




The correct answer was A. 

time line = $0 now; $0 in yr 1; $0 in yr 2; $1 in yr 3.
P2 = D3/(k - g) = 1/(.17 - .07) = $10
Note the math. The price is always one year before the dividend date.
Solve for the PV of $10 to be received in two years.
FV = 10; n = 2; i = 17; compute PV = $7.30 
7. Question ID#: 96350  DDM / CAPM

Using an infinite period dividend discount model, find the value of a stock that last paid a dividend of $1.50. Dividends are expected to grow at 6 percent forever, the expected return on the market is 12 percent and the stock’s beta is 0.8. The risk-free rate of return is 5 percent. 

	A)
	$34.57.



	

	B)
$26.50.



	C)
$32.61.




The correct answer was A. 

First find the required rate of return using the CAPM equation.

k = 0.05 + 0.8(0.12 - 0.05) = 10.6%

$1.50(1.06) /(0.106 - 0.06) = $34.57 
8. Question ID#: 96351  DDM

A company has just paid a $2.00 dividend per share and dividends are expected to grow at a rate of 6% indefinitely. If the required return is 13%, what is the value of the stock today? 

	A)
	$30.29.



	

	B)
$34.16.



	C)
$32.25.




The correct answer was A. 

P0 = D1 / (k - g) = 2.12 / (0.13 - 0.06) = $30.29 

9. Question ID#: 96352  DDM / payout ratio

A firm is expected to have four years of growth with a retention ratio of 100%. Afterwards the firm’s dividends are expected to grow 4% annually, and the dividend payout ratio will be set at 50%. If earnings per share (EPS) = $2.4 in year 5 and the required return on equity is 10%, what is the stock’s value today? 

	A)
	$13.66. 



	

	B)
$30.00. 



	C)
$20.00. 




The correct answer was A. 

Dividend in year 5 = (EPS)(payout ratio) = 2.4 × 0.5 = 1.2

P4 = 1.2 / (0.1 − 0.04) = 1.2 / 0.06 = $20

P0 = PV (P4) = $20 / (1.10)4 = $13.66

10. Question ID#: 96429  supernormal growth

Bybee is expected to have a temporary supernormal growth period and then level off to a “normal,” sustainable growth rate forever. The supernormal growth is expected to be 25 percent for 2 years, 20 percent for one year and then level off to a normal growth rate of 8 percent forever. The market requires a 14 percent return on the company and the company last paid a $2.00 dividend. What would the market be willing to pay for the stock today? 

	A)
	$52.68.



	

	B)
$67.50.



	C)
$47.09.




The correct answer was A. 

First, find the future dividends at the supernormal growth rate(s). Next, use the infinite period dividend discount model to find the expected price after the supernormal growth period ends. Third, find the present value of the cash flow stream. 

D1 = 2.00 (1.25) = 2.50 (1.25) = D2 = 3.125 (1.20) = D3 = 3.75
P2 = 3.75/(0.14 - 0.08) = 62.50
N = 1; I/Y = 14; FV = 2.50; compute PV = 2.19.
N = 2; I/Y = 14; FV = 3.125; compute PV = 2.40.
N = 2; I/Y = 14; FV = 62.50; compute PV = 48.09.
Now sum the PV’s: 2.19 + 2.40 + 48.09 = $52.68.

11. Question ID#: 96304  DDM / fischer effect

Which of the following statements concerning security valuation is least accurate? The: 

	A)
	real risk-free rate is the nominal risk-free rate times the expected inflation rate.



	

	B)
required rate of return for the dividend discount model is influenced by inflation.



	C)
dividend discount model assumes that the required rate of return is greater than the growth rate of the company's dividend.




The correct answer was A. 

The real risk-free rate equals (1 + nominal risk-free rate) / (1 + expected inflation rate) minus one. 

Chapter 9: Net Present Value and Other Investment Criteria
1. Question ID#: 97614  payback period

Which of the following statements about the payback period is FALSE? 

	A)
	The payback method considers all cash flows throughout the entire life of a project.



	

	B)
The payback period provides a rough measure of a project's liquidity and risk.



	C)
The payback period is the number of years it takes to recover the original cost of the investment.




The correct answer was A. 

The payback period does not take any cash flows after the payback point into consideration. 

2. Question ID#: 97597  NPV / IRR

A company is considering the purchase of a copier that costs $5,000. Assume a cost of capital of 10 percent and the following cash flow schedule:

· Year 1: $3,000 

· Year 2: $2,000 

· Year 3: $2,000 

Determine the project's NPV and IRR.

	
	NPV
	IRR


	A)
	$883

20%



	

	B)
$243

20%



	C)
$883

15%




The correct answer was A. 

To determine the NPV, enter the following: 
PV of $3,000 in year 1 = $2,727, PV of $2,000 in year 2 = $1,653, PV of $2,000 in year 3 = $1,503. NPV = ($2,727 + $1,653 + $1,503) − $5,000 = 883. 

You know the NPV is positive, so the IRR must be greater than 10%. You only have two choices, 15% and 20%. Pick one and solve the NPV. If it is not close to zero, then you guessed wrong; select the other one. 

[3000 ÷ (1 + 0.2)1 + 2000 ÷ (1 + 0.2)2 + 2000 ÷ (1 + 0.2)3] − 5000 = 46 This result is closer to zero (approximation) than the $436 result at 15%. Therefore, the approximate IRR is 20%.

3. Question ID#: 97496 payback period / NPV

A firm is considering a $200,000 project that will last 3 years and has the following financial data:

· Annual after-tax cash flows are expected to be $90,000. 

· Target debt/equity ratio is 0.4. 

· Cost of equity is 14%. 

· Cost of debt is 7%. 

· Tax rate is 34%. 

Determine the project's payback period and net present value (NPV).

	
	Payback Period
	NPV


	A)
	2.22 years

$18,716



	

	B)
2.43 years

$18,716



	C)
2.22 years

$21,872




The correct answer was A. 

Payback Period
$200,000 / $90,000 = 2.22 years

NPV Method
First, calculate the weights for debt and equity 

wd + we = 1
we = 1 − wd
wd / we = 0.40
wd = 0.40 × (1 − wd)
wd = 0.40 − 0.40wd
1.40wd = 0.40
wd = 0.286, we = 0.714 

Second, calculate WACC
WACC = (wd × kd) × (1 − t) + (we × ke) = (0.286 × 0.07 × 0.66) + (0.714 × 0.14) = 0.0132 + 0.100 = 0.1132 

Third, calculate the PV of the project cash flows
90 / (1 + 0.1132)1 + 90 / (1 + 0.1132)2 + 90 / (1 + 0.1132)3 = $218,716 

And finally, calculate the project NPV by subtracting out the initial cash flow
NPV = $218,716 − $200,000 = $18,716

4. Question ID#: 97491  NPV

A firm is considering a $5,000 project that will generate an annual cash flow of $1,000 for the next 8 years. The firm has the following financial data:

· Debt/equity ratio is 50%. 

· Cost of equity capital is 15%. 

· Cost of new debt is 9%. 

· Tax rate is 33%. 

Determine the project's net present value (NPV) and whether or not to accept it.

	< >> 
	NPV
	Accept / Do not accept


	A)
	-$33

Do not accept



	

	B)
+$33

Accept



	C)
+$4,968

Accept




The correct answer was A. 

First, calculate the weights for debt and equity 
d + we = 1

d = 0.50We
e + We = 1

d = 0.333, we = 0.667

< > p>

Second, calculate WACC
WACC = (wd × kd) × (1 − t) + (we × ke) = (0.333 × 0.09 × 0.67) + (0.667 × 0.15) = 0.020 + 0.100 = 0.120


Third, calculate the PV of the project cash flows
N = 8, PMT = -1,000, FV = 0, I/Y = 12, CPT PV = 4,967 

< > p>

And finally, calculate the project NPV by subtracting out the initial cash flow
NPV = $4,967 − $5,000 = -$33

5. Question ID#: 97274  NPV / IRR

Which of the following statements about NPV and IRR is least accurate? 

	A)
	For mutually exclusive projects you should use the IRR to rank and select projects.



	
	
B)
For independent projects if the IRR is > the cost of capital accept the project.



	C)
The NPV method assumes that all cash flows are reinvested at the cost of capital.




The correct answer was A. 

For mutually exclusive projects you should use NPV to rank and select projects. 

6. Question ID#: 97192  discounted payback period

Which of the following statements about the discounted payback period is least accurate? The discounted payback: 

	A)
	period is generally shorter than the regular payback.



	

	B)
frequently ignores terminal values.



	C)
method can give conflicting results with the NPV.




The correct answer was A. 

The discounted payback period calculates the present value of the future cash flows. Because these present values will be less than the actual cash flows it will take a longer time period to recover the original investment amount. 

7. Question ID#: 96544  IRR vs NPV

The underlying cause of ranking conflicts between the net present value (NPV) and internal rate of return (IRR) methods is the underlying assumption related to the: 

	A)
	reinvestment rate.



	

	B)
initial cost.



	C)
cash flow timing.




The correct answer was A. 

The IRR method assumes all future cash flows can be reinvested at the IRR. This may not be feasible because the IRR is not based on market rates. The NPV method uses the weighted average cost of capital (WACC) as the appropriate discount rate. 

8. Question ID#: 96549  multiple IRRs

Which of the following projects would have multiple internal rates of return (IRRs)? The cost of capital for all projects is 9.75%. 

	Cash Flows 
	Blackjack 
	Roulette 
	Keno 

	T0 
	-10,000 
	-12,000 
	-8,000 

	T1 
	10,000 
	7,000 
	4,000 

	T2 
	15,000 
	2,000 
	0 

	T3 
	-10,000 
	2,000 
	6,000 

	A)
Project Blackjack only.



	B)
Projects Roulette and Keno.



	C)
Projects Blackjack and Keno.




The correct answer was A. 

The multiple IRR problem occurs if a project has non-normal cash flows, that is, the sign of the net cash flows changes from negative to positive to negative, or vice versa. For the exam, a shortcut to look for is the project cash flows changing signs more than once. Only Project Blackjack has this cash flow pattern. The 0 net cash flow in T2 for Project Keno and likely negative net present value (NPV) for Project Roulette would not necessarily result in multiple IRRs. 
9. Question ID#: 97505  multiple IRRs

If a project has net annual cash outflows during its life or at the end of its life:

	A)
	there will be more than one internal rate of return.



	

	B)
there will be a negative internal rate of return.



	C)
there will be multiple net present values.




The correct answer was A. 

Projects with non-normal cash-flow patterns (where the sign of the net cash flow goes from minus to plus to back to minus) will have multiple internal rates of return. However, one will still be able to calculate a single net present value for the cash flow pattern.

10. Question ID#: 95118  problems with IRR

Which of the following is least likely a problem associated with the internal rate of return (IRR) method for making investment decisions?

	A)
	The IRR method determines the discount rate that sets the net present value of a project equal to zero.



	

	B)
An investment project may have more than one internal rate of return.



	C)
IRR and NPV criteria can give conflicting decisions for mutually exclusive projects.




The correct answer was A. 

The IRR method equates an investment’s present value of inflows to its present value of outflows. The IRR by definition is the discount rate that sets the net present value of a project equal to zero. Therefore, the decision rule for independent projects is as follows: if the IRR is above the firm’s cost of capital, the project should be accepted, and if the IRR is below the cost of capital, the project should be rejected.

Chapter 10: Making Capital Investment Decisions
1. Question ID#: 96780  opportunity cost/taxes

Mason Webb makes the following statements to his boss, Laine DeWalt about the principles of capital budgeting.

Statement 1: Opportunity costs are not true cash outflows and should not be considered in a capital budgeting analysis.

Statement 2: Cash flows should be analyzed on an after-tax basis.

Should DeWalt agree or disagree with Webb’s statements?

	
	Statement 1
	Statement 2


	A)
	Disagree

Agree



	

	B)
Agree

Agree



	C)
Disagree

Disagree




The correct answer was A. 

DeWalt should disagree with Webb’s first statement. Cash flows are based on opportunity costs. Any cash flows that the firm gives up because a project is undertaken should be charged to the project. DeWalt should agree with Webb’s second statement. The impact of taxes must be considered when analyzing capital budgeting projects. 
2. Question ID#: 96777  financing costs

Financing costs for a capital project are: 

	A)
	captured in the project’s required rate of return.



	

	B)
subtracted from the net present value of a project.



	C)
subtracted from estimates of a project’s future cash flows.




The correct answer was A. 

Financing costs are reflected in a project’s required rate of return. Project specific financing costs should not be included as project cash flows. The firm's overall weighted average cost of capital, adjusted for project risk, should be used to discount expected project cash flows. 

3. Question ID#: 96776  timing/incremental cf

Ashlyn Lutz makes the following statements to her supervisor, Paul Ulring, regarding the basic principles of capital budgeting:

Statement 1: The timing of expected cash flows is crucial for determining the profitability of a capital budgeting project.

Statement 2: Capital budgeting decisions should be based on the after-tax net income produced by the capital project.

Which of the following regarding Lutz’s statements is most accurate?

	
	Statement 1
	Statement 2


	A)
	Correct

Incorrect



	

	B)
Correct

Correct



	C)
Incorrect

Correct




The correct answer was A. 

Lutz’s first statement is correct. The timing of cash flows is important for making correct capital budgeting decisions. Capital budgeting decisions account for the time value of money. Lutz’s second statement is incorrect. Capital budgeting decisions should be based on incremental after-tax cash flows, not net (accounting) income. 

4. Question ID#: 93716  opportunity cost

Wei Zhang has funds on deposit with Iron Range bank. The funds are currently earning 6% interest. If he withdraws $15,000 to purchase an automobile, the 6% interest rate can be best thought of as a(n): 

	A)
	opportunity cost.



	

	B)
financing cost.



	C)
discount rate.




The correct answer was A. 

Since Wei will be foregoing interest on the withdrawn funds, the 6% interest can be best characterized as an opportunity cost — the return he foregoes by postponing his auto purchase until the future. 

5. Question ID#: 96780  opportunity costs/after tax cf's

Mason Webb makes the following statements to his boss, Laine DeWalt about the principles of capital budgeting.

Statement 1: Opportunity costs are not true cash outflows and should not be considered in a capital budgeting analysis.

Statement 2: Cash flows should be analyzed on an after-tax basis.

Should DeWalt agree or disagree with Webb’s statements?

	
	Statement 1
	Statement 2


	A)
	Disagree

Agree



	

	B)
Agree

Agree



	C)
Disagree

Disagree




The correct answer was A. 

DeWalt should disagree with Webb’s first statement. Cash flows are based on opportunity costs. Any cash flows that the firm gives up because a project is undertaken should be charged to the project. DeWalt should agree with Webb’s second statement. The impact of taxes must be considered when analyzing capital budgeting projects. 
Chapter 11: Project Analysis and Evaluation
1. Question ID#: 98114  capital rationing

The Chief Financial Officer of Large Closeouts Inc. (LCI) determines that the firm must engage in capital rationing for its capital budgeting projects. Which of the following describes the most likely reason for LCI to use capital rationing? LCI: 

	A)
	has a limited amount of funds to invest.



	

	B)
must choose between projects that compete with one another.



	C)
would like to arrange projects so that investing in a project today provides the option to accept or reject certain future projects.




The correct answer was A. 

Capital rationing exists when a company has a fixed (maximum) amount of funds to invest. If profitable project opportunities exceed the amount of funds available, the firm must ration, or prioritize its funds to achieve the maximum value for shareholders given its capital limitations. 

Chapter 12: Some Lessons From Capital Market History
1. Question ID#: 96587  EMH

If a firm announces an unexpectedly large cash dividend, the efficient market hypothesis (EMH) would predict which of the following price changes at the announcement?

	A)
	An abnormal price change to occur at the time of the announcement.



	

	B)
No price change.



	C)
An abnormal price change to occur before the announcement.




The correct answer was A. 

Market efficiency assumes investors adjust their estimate of security prices rapidly to reflect their interpretation of the new information received. Market efficiency also assumes that new information comes to market randomly and is available to all investors at the same time. Therefore, the price should not be reflected prior to the announcement.

2. Question ID#: 87440  EMH

Sunbeam came up with some creative twists on the most common technique for earnings manipulation, which is: 

	A)
	improper revenue recognition.



	

	B)
delaying recognition of expenses.



	C)
creating “cookie jar” reserves.




The correct answer was A. 

The most common form of earnings manipulation is recognizing revenue too soon. Sunbeam found a number of ways to do that. Sunbeam created "cookie jar" reserves, but this is not the most common form of earnings manipulation. 

3. Question ID#: 97056  EMH – strong form

The strong-form efficient market hypothesis (EMH) asserts that stock prices fully reflect which of the following types of information?

	A)
	Public and private.



	

	B)
Public, private, and future.



	C)
Market.




The correct answer was A. 

The strong-form EMH assumes that stock prices fully reflect all information from public and private sources. 

4. Question ID#: 98173  EMH – semi-strong form

The semi-strong form of the efficient market hypothesis (EMH) asserts that stock prices: 

	A)
	fully reflect all publicly available information.



	

	B)
fully reflect all historical price information.



	C)
fully reflect all relevant information including insider information.




The correct answer was A. 

The semi-strong form of the EMH asserts that security prices fully reflect all publicly available information. This would include all historical information. The weak form relates to historical information only. The strong form relates to public and private information. 

5. Question ID#: 95747  market efficiency

MBT Corporation recently announced a 15% increase in earnings per share (EPS) over the previous period. The consensus expectation of financial analysts had been an increase in EPS of 10%. After the earnings announcement the value of MBT common stock increased each day for the next five trading days, as analysts and investors gradually reacted to the better than expected news. This gradual change in the value of the stock is an example of:

	A)
	inefficient markets.



	

	B)
speculation.



	C)
efficient markets.




The correct answer was A. 

A critical element of efficient markets is that asset prices respond immediately to any new information that will affect their value. Large numbers of traders responding in similar fashion to the new information will create a temporary imbalance in supply and demand, and this will adjust asset market values.

6. Question ID#: 94212  probability distribution

John Cupp, CFA, has several hundred clients. The values of the portfolios Cupp manages are approximately normally distributed with a mean of $800,000 and a standard deviation of $250,000. The probability of a randomly selected portfolio being in excess of $1,000,000 is: 

	A)
	0.2119. 



	

	B)
0.1057. 



	C)
0.3773. 




The correct answer was A. 

Although the number of clients is discrete, since there are several hundred of them, we can treat them as continuous. The selected random value is standardized (its z-value is calculated) by subtracting the mean from the selected value and dividing by the standard deviation. This results in a z-value of (1,000,000 – 800,000) / 250,000 = 0.8. Looking up 0.8 in the z-value table yields 0.7881 as the probability that a random variable is to the left of the standardized value (i.e.less than $1,000,000). Accordingly, the probability of a random variable being to the right of the standardized value (i.e. greater than $1,000,000) is 1 – 0.7881 = 0.2119. 
7. Question ID#: 94211  probability distribution

If a stock's return is normally distributed with a mean of 16% and a standard deviation of 50%, what is the probability of a negative return in a given year?

	A)
	0.3745.



	

	B)
0.5000.



	C)
0.0001.




The correct answer was A. 

The selected random value is standardized (its z-value is calculated) by subtracting the mean from the selected value and dividing by the standard deviation. This results in a z-value of (0 − 16) / 50 = -0.32. Changing the sign and looking up +0.32 in the z-value table yields 0.6255 as the probability that a random variable is to the right of the standardized value (i.e. more than zero). Accordingly, the probability of a random variable being to the left of the standardized value (i.e. less than zero) is 1 − 0.6255 = 0.3745.

8. Question ID#: 94224  probability distribution

A portfolio manager is looking at an investment that has an expected annual return of 10% with a standard deviation of annual returns of 5%. Assuming the returns are approximately normally distributed, the probability that the return will exceed 20% in any given year is closest to:

	A)
	2.28%.



	

	B)
0.0%.



	C)
4.56%.




The correct answer was A. 

Given that the standard deviation is 5%, a 20% return is two standard deviations above the expected return of 10%. Assuming a normal distribution, the probability of getting a result more than two standard deviations above the expected return is 1 − Prob(Z ≤ 2) = 1 − 0.9772 = 0.228 or 2.28% (from the Z table).

8. Question ID#: 94223  probability distribution

A client will move his investment account unless the portfolio manager earns at least a 10% rate of return on his account. The rate of return for the portfolio that the portfolio manager has chosen has a normal probability distribution with an expected return of 19% and a standard deviation of 4.5%. What is the probability that the portfolio manager will keep this account?

	A)
	0.977.



	

	B)
0.950.



	C)
0.750.




The correct answer was A. 

Since we are only concerned with values that are below a 10% return this is a 1 tailed test to the left of the mean on the normal curve. With μ = 19 and σ = 4.5, P(X ≥ 10) = P(X ≥ μ − 2σ) therefore looking up -2 on the cumulative Z table gives us a value of 0.0228, meaning that (1 − 0.0228) = 97.72% of the area under the normal curve is above a Z score of -2. Since the Z score of -2 corresponds with the lower level 10% rate of return of the portfolio this means that there is a 97.72% probability that the portfolio will earn at least a 10% rate of return.

9. Question ID#: 94272  probability distribution

A stock portfolio's returns are normally distributed. It has had a mean annual return of 25% with a standard deviation of 40%. The probability of a return between -41% and 91% is closest to: 

	A)
	90%.



	

	B)
65%.



	C)
95%.




The correct answer was A. 

A 90% confidence level includes the range between plus and minus 1.65 standard deviations from the mean. (91 − 25) / 40 = 1.65 and (-41 − 25) / 40 = -1.65. 

10. Question ID#: 94271  probability distribution

A stock portfolio has had a historical average annual return of 12% and a standard deviation of 20%. The returns are normally distributed. The range –27.2 to 51.2% describes a:

	A)
	95% confidence interval.



	

	B)
68% confidence interval.



	C)
99% confidence interval.




The correct answer was A. 

The upper limit of the range, 51.2%, is (51.2 − 12) = 39.2 / 20 = 1.96 standard deviations above the mean of 12. The lower limit of the range is (12 − (-27.2)) = 39.2 / 20 = 1.96 standard deviations below the mean of 12. A 95% confidence level is defined by a range 1.96 standard deviations above and below the mean.

Chapter 13: Return, Risk, and The Security Market Line
1. Question ID#: 95660  risk aversion

Risk aversion means that if two assets have identical expected returns, an individual will choose the asset with the: 

	A)
	lower risk level.



	

	B)
higher standard deviation.



	C)
shorter payback period.




The correct answer was A. 

Investors are risk averse.  Given a choice between assets with equal rates of expected return, the investor will always select the asset with the lowest level of risk.  This means that there is a positive relationship between expected returns (ER) and expected risk (E() and the risk return line (capital market line [CML] and security market line [SML]) is upward sloping.
Standard deviation is a way to quantify risk. The payback period is used to evaluate capital projects, not investment returns.
2. Question ID#: 93465  portfolio expected return

An investor owns the following three-stock portfolio. 

	Stock
	Market Value
	Expected Return

	A
	$5,000
	12%

	B
	$3,000
	8%

	C
	$4,000
	9%


The expected return is closest to:

	A)
	10.00%.



	

	B)
29.00%.



	C)
9.67%.




The correct answer was A. 

To calculate this result, we first need to calculate the portfolio value, then determine the weights for each stock, and then calculate the expected return.

Portfolio Value: = sum of market values = 5,000 + 3,000 + 4,000 = 12,000

Portfolio Weights:
WA = 5,000 / 12,000 = 0.4167

WB = 3,000 / 12,000 = 0.2500

WC = 4,000 / 12,000 = 0.333

Expected Return
ERportfolio = ((ERstock)(W% of funds invested in each of the stocks)
ER = wAERA + wBERB + wCERC, where ER = Expected Return and w = % invested in each stock. 
ER = (0.4167 × 12.0) + (0.2500 × 8.0) + (0.333 × 9.0) = 10.0%
3. Question ID#: 93463  portfolio expected return

An investor owns the following three-stock portfolio today. 

	Stock 
	Market Value 
	Expected Annual Return 

	K 
	$4,500 
	14% 

	L 
	$6,300 
	9% 

	M 
	$3,700 
	12% 


The expected portfolio value two years from now is closest to: 

	A)
	$17,975.



	

	B)
$16,150.



	C)
$17,870.




The correct answer was A. 

The easiest way to approach this problem is to determine the value of each stock two years in the future and to sum up the total values of each stock.

	Stock 
	Market Value  ×  
	Expected Annual Return 
	=   Total 

	K 
	$4,500   × 
	1.14 × 1.14 
	=   5,848.20 

	L 
	$6,300   × 
	1.09 × 1.09 
	=   7,485.03 

	M 
	$3,700   × 
	1.12 × 1.12 
	=   4,641.28 

	
	
	Total   
	=   17,974.51 


4. Question ID#: 93452  expected return – unequal probability

A security has the following expected returns and probabilities of occurrence: 

	Return 
	Probability 

	6.1%
	10%

	7.5%
	40%

	9.2%
	50%


What is the expected return of the security?

	A)
	8.2%.



	

	B)
8.4%.



	C)
7.6%.




The correct answer was A. 

The expected return is calculated as the sum of the return times the probability that the return occurs. In this case, the expected return is: (0.061)(0.10) + (0.075)(0.40) + (0.092)(0.50) = 0.0821, or 8.2%. 

5. Question ID#: 93376  Systematic & unsystematic risk

Which of the following statements about systematic and unsystematic risk is least accurate? 

	A)
	The unsystematic risk for a specific firm is similar to the unsystematic risk for other firms in the same industry.



	

	B)
Total risk equals market risk plus firm-specific risk.



	C)
As an investor increases the number of stocks in a portfolio, the systematic risk will remain constant.




The correct answer was A. 

This statement should read, "The unsystematic risk for a specific firm is not similar to the unsystematic risk for other firms in the same industry." Thus, other terms for this risk are firm-specific, or unique, risk.

Systematic risk is not diversifiable. As an investor increases the number of stocks in a portfolio the unsystematic risk will decrease at a decreasing rate. Total risk equals systematic (market) plus unsystematic (firm-specific) risk.



6. Question ID#: 93418  CAPM

Given a beta of 1.25 and a risk-free rate of 6%, what is the expected rate of return assuming a 12% market return?

	A)
	13.5%.



	

	B)
10%.



	C)
31%.




The correct answer was A. 

k = 6 + 1.25 (12 − 6)

= 6 + 1.25(6)

= 6 + 7.5

= 13.5

7. Question ID#: 93417  SML

Luis Green is an investor who uses the security market line to determine whether securities are properly valued. He is evaluating the stocks of two companies, Mia Shoes and Video Systems. The stock of Mia Shoes is currently trading at $15 per share, and the stock of Video Systems is currently trading at $18 per share. Green expects the prices of both stocks to increase by $2 in a year. Neither company pays dividends. Mia Shoes has a beta of 0.9 and Video Systems has a beta of (-0.30). If the market return is 15% and the risk-free rate is 8%, which trading strategy will Green employ? 

	Mia Shoes
	Video Systems

	A)
Sell

Buy



	B)
Buy

Sell



	C)
Buy

Buy




The correct answer was A. 

The required return for Mia Shoes is 0.08 + 0.9 × (0.15-0.08) = 14.3%. The forecast return is $2/$15 = 13.3%. The stock is overvalued and the investor should sell it. The required return for Video Systems is 0.08 - 0.3 × (0.15-0.08) = 5.9%. The forecast return is $2/$17 = 11.1%. The stock is undervalued and the investor should buy it. 

Question ID#: 93401  SML

8. Question ID#: 93397  CAPM

The beta of Stock A is 1.3. If the expected return of the market is 12%, and the risk-free rate of return is 6%, what is the expected return of Stock A? 

	A)
	13.8%.



	

	B)
14.2%.



	C)
15.6%.




The correct answer was A. 

RRStock = Rf + (RMarket - Rf) × BetaStock, where RR= required return, R = return, and Rf = risk-free rate

Here, RRStock = 6 + (12 - 6) × 1.3  = 6 + 7.8 = 13.8%.

9. Question ID#: 93395  CAPM

What is the required rate of return for a stock with a beta of 1.2, when the risk-free rate is 6% and the market is offering 12%? 

	A)
	13.2%.



	

	B)
7.2%.



	C)
6.0%.




The correct answer was A. 

RRStock = Rf + (RMarket - Rf) × BetaStock, where RR= required return, R = return, and Rf = risk-free rate.  

Here, RRStock = 6 + (12 - 6) × 1.2 = 6 + 7.2 = 13.2%.

10. Question ID#: 95044  standard deviation calc

A security has the following expected returns and probabilities of occurrence: 

	Return 
	Probability 

	11%
	20%

	14%
	50%

	15%
	30%


What is the standard deviation of the returns?

	A)
	1.42%.



	

	B)
1.74%.



	C)
0.02%.




The correct answer was A. 

The standard deviation is the square root of the variance. The variance is the sum of the probability times the difference between the return and the expected return squared. First, find the expected return as: (0.11)(0.20) + (0.14)(0.50) + (0.15)(0.30) = 0.137, or 13.7%. Then, the variance is determined as: (0.20)(0.11 – 0.137)2 + (0.50)(0.14 – 0.137)2 + (0.30)(0.15 – 0.137)2 = 0.000201. The standard deviation is then: (0.000201)0.5 = 0.0142, or 1.42%. 

Chapter 14: Cost of Capital
1. Question ID#: 97721  WACC – calculating

An analyst gathered the following data about a company: 

	Capital Structure
	Required Rate of Return

	30% debt
	10% for debt

	20% preferred stock
	11% for preferred stock

	50% common stock
	18% for common stock



Assuming a 40% tax rate, what after-tax rate of return must the company earn on its investments? 

	A)
	13.0%.



	

	B)
14.2%.



	C)
10.0%.




The correct answer was A. 

(0.3)(0.1)(1 - 0.4) + (0.2)(0.11) + (0.5)(0.18) = 0.13 

2. Question ID#: 97737  WACC – taxes

When calculating the weighted average cost of capital (WACC) an adjustment is made for taxes because:

	A)
	the interest on debt is tax deductible.



	

	B)
equity earns higher return than debt.



	C)
equity is risky.




The correct answer was A. 

Equity and preferred stock are not adjusted for taxes because dividends are not deductible for corporate taxes. Only interest expense is deductible for corporate taxes. 

3. Question ID#: 97519  WACC – sml – optimal cap struct

A firm has $100 in equity and $300 in debt. The firm recently issued bonds at the market required rate of 9%. The firm's beta is 1.125, the risk-free rate is 6%, and the expected return in the market is 14%. Assume the firm is at their optimal capital structure and the firm's tax rate is 40%. What is the firm's weighted average cost of capital (WACC)? 

	A)
	7.8%.



	

	B)
8.6%.



	C)
5.4%.




The correct answer was A. 

CAPM = RE = RF + B(RM − RF) = 0.06 + (1.125)(0.14 − 0.06) = 0.15

WACC = (E ÷ V)(RE) + (D ÷ V)(RD)(1 − t)

V = 100 + 300 = 400

WACC = (1 ÷ 4)(0.15) + (3 ÷ 4)(0.09)(1 − 0.4) = 0.078
4. Question ID#: 97840 WACC – tax rate 

Assume that a company has equal amounts of debt, common stock, and preferred stock. An increase in the corporate tax rate of a firm will cause its weighted average cost of capital (WACC) to: 

	A)
	fall.



	

	B)
rise.



	C)
more information is needed.




The correct answer was A. 

Recall the WACC equation:

WACC = [wd × kd × (1 − t)] + (wps × kps) + (wce × ks)

The increase in the corporate tax rate will result in a lower cost of debt, resulting in a lower WACC for the company.

5. Question ID#: 97759  WACC – adjust for risk

Assume a firm uses a constant WACC to select investment projects rather than adjusting the projects for risk. If so, the firm will tend to: 

	A)
	reject profitable, low-risk projects and accept unprofitable, high-risk projects.



	

	B)
accept profitable, low-risk projects and accept unprofitable, high-risk projects.



	C)
accept profitable, low-risk projects and reject unprofitable, high-risk projects.




The correct answer was A. 

The firm will reject profitable, low-risk projects because it will use a hurdle rate that is too high. The firm should lower the required rate of return for lower risk projects. The firm will accept unprofitable, high-risk projects because the hurdle rate of return used will be too low relative to the risk of the project. The firm should increase the required rate of return for high-risk projects. 

6. Question ID#: 97524  WACC – calculating – dividend growth model

Hatch Corporation's target capital structure is 40% debt, 50% common stock, and 10% preferred stock. Information regarding the company's cost of capital can be summarized as follows:

· The company's bonds have a nominal yield to maturity of 7%. 

· The company's preferred stock sells for $40 a share and pays an annual dividend of $4 a share. 

· The company's common stock sells for $25 a share and is expected to pay a dividend of $2 a share at the end of the year (i.e., D1 = $2.00). The dividend is expected to grow at a constant rate of 7% a year. 

· The company has no retained earnings. 

· The company's tax rate is 40%. 

What is the company's weighted average cost of capital (WACC)?

	A)
	10.18%.



	

	B)
10.59%.



	C)
10.03%.




The correct answer was A. 

WACC = (wd)(kd)(1 − t) + (wps)(kps) + (wce)(kce)

where:
wd = 0.40
wce = 0.50
wps = 0.10
kd = 0.07

kps = Dps / P = 4.00 / 40.00 = 0.10

kce = D1 / P0 + g = 2.00 / 25.00 + 0.07 = 0.08 + 0.07 = 0.15

WACC = (0.4)(0.07)(1 − 0.4) + (0.1)(0.10) + (0.5)(0.15) = 0.0168 + 0.01 + 0.075 = 0.1018 or 10.18%

7. Question ID#: 97942  WACC – calculating – concept

Helmut Humm, manager at a large U.S. firm, has just been assigned to the capital budgeting area to replace a person who left suddenly. One of Humm’s first tasks is to calculate the company’s weighted average cost of capital (WACC) – and fast! The CEO is scheduled to present to the board in half an hour and needs the WACC – now! Luckily, Humm finds clear notes on the target capital component weights. Unfortunately, all he can find for the cost of capital components is some handwritten notes. He can make out the numbers, but not the corresponding capital component.  As time runs out, he has to guess.

Here is what Humm deciphered:

· Target weights: wd = 30%, wps = 20%, wce = 50%, where wd, wps, and wce are the weights used for debt, preferred stock, and common equity. 

· Cost of components (in no particular order): 6.0%, 15.0%, and 8.5%. 

· The cost of debt is the after-tax cost. 

If Humm guesses correctly, the WACC is:

	A)
	11.0%.



	

	B)
9.2%.



	C)
9.0%.




The correct answer was A. 

If Humm remembers to order the capital components from cheapest to most expensive, he can calculate WACC. The order from cheapest to most expensive is: debt, preferred stock (which acts like a hybrid of debt and equity), and common equity.

Then, using the formula for WACC = (wd)(kd) + (wps)(kps) + (wce)(kce)

where wd, wps, and we are the weights used for debt, preferred stock, and common equity.

WACC = (0.30 × 6.0%) + (0.20 × 8.5%) + (0.50 × 15.00%) = 11.0%.
8. Question ID#: 97870  WACC – calculating

A company has the following capital structure:

· Target weightings: 30% debt, 20% preferred stock, 50% common equity. 

· Tax Rate: 35%. 

· The firm can issue $1,000 face value, 7% semi-annual coupon debt with a 15-year maturity for a price of $1,047.46. 

· An 8% dividend preferred stock issue has a value of $35 per share. 

· The company’s growth rate is estimated at 6%. 

· The company's common shares have a value of $40 and a dividend in year 0 of D0 = $3.00. 

The company's weighted average cost of capital is closest to: 

	A)
	9.84%.



	

	B)
9.28%.



	C)
10.53%.




The correct answer was A. 

Step 1: Determine the after-tax cost of debt:

The after-tax cost of debt [kd (1 – t)] is used to compute the weighted average cost of capital. It is the interest rate on new debt (kd) less the tax savings due to the deductibility of interest (kdt).

Here, we are given the inputs needed to calculate kd: N = 15 × 2 = 30; PMT = (1,000 × 0.07) / 2 = 35; FV = 1,000; PV = -1,047.46; CPT → I = 3.25, multiply by 2 = 6.50%.

Thus, kd (1 – t) = 6.50% × (1 – 0.35) = 4.22%
Step 2: Determine the cost of preferred stock:
Preferred stock is a perpetuity that pays a fixed dividend (Dps) forever. The cost of preferred stock (kps) = Dps / P

	where: 
	Dps = preferred dividends.

	
	P = price


Here, Dps = 0.08 × $35.00 = $2.80, so kps = Dps / P = $2.80 / $35 = 0.08, or 8.0%.
Step 3: Determine the cost of common equity:
kce = (D1 / P0) + g

	where: 
	D1 = Dividend in next year

	
	P0 = Current stock price

	
	g = Dividend growth rate


Here, D1 = D0 × (1 + g) = $3.00 × (1 + 0.06) = $3.18.

kce = (3.18 / 40) + 0.06 = 0.1395 or 13.95%.
Step 4: Calculate WACC:
WACC = (wd)(kd) + (wps)(kps) + (wce)(kce)

where wd, wps, and wce are the weights used for debt, preferred stock, and common equity.

Here, WACC = (0.30 × 4.22%) + (0.20 × 8.0%) + (0.50 × 13.95%) = 9.84%.
Note: Your calculation may differ slightly, depending on whether you carry all calculations in your calculator, or round to two decimals and then calculate.



9. Question ID#: 97264  after tax cost of capital

Which of the following choices best describes the role of taxes on the after-tax cost of capital in the U.S. from the different capital sources?

	
	Common equity 
	Preferred equity
	Debt


	A)
	No effect

No effect

Decrease



	

	B)
No effect

Decrease

Decrease



	C)
Decrease

Decrease

No effect




The correct answer was A. 

In the U.S., interest paid on corporate debt is tax deductible, so the after-tax cost of debt capital is less than the before-tax cost of debt capital. Dividend payments are not tax deductible, so taxes do not decrease the cost of common or preferred equity. 

10. Question ID#: 97235  WACC – req return and adj for risk

At a recent Haggerty Semiconductors Board of Directors meeting, Merle Haggerty was asked to discuss the topic of the company’s weighted average cost of capital (WACC). 

At the meeting Haggerty made the following statements about the company’s WACC:

Statement 1: A company creates value by producing a higher return on its assets than the cost of financing those assets. As such, the WACC is the cost of financing a firm’s assets and can be viewed as the firm’s opportunity cost of financing its assets.

Statement 2: Since a firm’s WACC reflects the average risk of the projects that make up the firm, it is not appropriate for evaluating all new projects. It should be adjusted upward for projects with greater-than-average risk and downward for projects with less-than-average risk.

Are Statement 1 and Statement 2, as made by Haggerty CORRECT?

	
	Statement 1
	Statement 2


	A)
	Correct

Correct



	

	B)
Correct

Incorrect



	C)
Incorrect

Correct




The correct answer was A. 

Each statement that Haggerty has made to the board of directors regarding the weighted average cost of capital is correct. New projects should have a return that is higher than the cost to finance those projects. 
Chapter 15: Raising Capital
1. Question ID#: 98041  dilution (stock options)

Stanley Corp. had 100,000 shares of common stock outstanding throughout 2004. It also had 20,000 stock options with an exercise price of $20 and another 20,000 options with an exercise price of $28. The average market price for the company's stock was $25 throughout the year. The stock closed at $30 on December 31, 2004. What are the number of shares used to calculate diluted earnings per share for the year?

	A)
	104,000. 



	

	B)
105,000. 



	C)
120,000. 




The correct answer was A. 

Only the stock options with an exercise price of $20 are dilutive. The additional shares of 4,000 (20,000 − [(20,000 × 20) / 25]) are added to the 100,000 common shares outstanding. 

2. Question ID#: 97352  underwriting

Which of the following is least likely a service provided by an underwriter in the primary market? 

	A)
	Diversification.



	

	B)
Origination.



	C)
Risk Bearing.




The correct answer was A. 

The underwriter provides the following services to the issuer:

· Origination, which involves the design, planning, and registration of the issue. 

· Risk bearing, which means the underwriter guarantees the price by purchasing the securities. 

· Distribution, which is the sale of the issue. 

3. Question ID#: 97857  diff betw primary/secondary mkt in bond issue

Which of the following does NOT represent a primary market offering? When bonds are sold: 

	A)
	from a dealer’s inventory.



	

	B)
on a best-efforts basis.



	C)
in a private placement.




The correct answer was A. 

When bonds are sold from a dealer’s inventory, the bonds have already been sold once and the transaction takes place on the secondary market. The other transactions in the responses take place in the primary market. When bonds are sold on a best-efforts basis, the investment banker does not take ownership of the securities and agrees to sell all she can. In a private placement, the bonds are sold privately to a small number of investors. 
Chapter 16: Financial Leverage and Capital Structure Policy
1. Question ID#: 96376  business risk

Evidence that a firm has high business risk would be provided by its volatile:

	A)
	operating profit.



	

	B)
fixed costs.



	C)
sales.




The correct answer was A. 

Business risk is one component of k, the required rate of return.

Chapter 17: Dividends and Payout Policy
1. Question ID#: 94899  stock split – CF stmt

How would a stock split be reported on the statement of cash flows? A stock split would:

	A)
	not be reported on the statement of cash flows because it is a non-cash event.



	

	B)
be reported as a source of cash in the cash flows from financing.



	C)
be reported as a use of cash in the cash flows from financing.




The correct answer was A. 

No cash is involved in a stock split--shares are exchanged for shares. 

2. Question ID#: 96948  cash dividend – financing cf

Under which pair of conditions is a factor of production least likely to earn economic rent?

	
	Supply curve
	Demand curve


	A)
	Perfectly elastic

Downward sloping



	

	B)
Perfectly inelastic

Perfectly elastic



	C)
Upward sloping

Downward sloping




The correct answer was A. 

If the supply of a productive resource is perfectly elastic, it earns no economic rent. Elasticity of demand is not directly related to economic rent. 

Chapter 18: Short-Term Finance and Planning
1. Question ID#: 97306  cash collection/cash exp

Murray Company reported the following revenues and expenses for the year ended 2007: 

	Sales revenue 
	$200,000 

	Wage expense 
	89,000 

	Insurance expense 
	17,000 

	Interest expense 
	10,400 

	Depreciation expense 
	50,000 


Following are the related balance sheet accounts:

	    
	2007 
	2006 

	Unearned revenue 
	$15,600 
	$13,200 

	Wages payable 
	5,400 
	6,600 

	Prepaid insurance 
	1,200 
	0 

	Interest payable 
	500 
	1,600 

	Accumulated depreciation 
	95,000 
	45,000 


Calculate cash collections and cash expenses.

	
	Cash collections 
	Cash expenses 


	A)
	$202,400 

$119,900 



	

	B)
$202,400 

$58,100 



	C)
$197,600 

$119,900 




The correct answer was A. 

Cash collections are $202,400 ($200,000 sales + $2,400 increase in unearned revenue). Cash expenses are $119,900 (–$89,000 wages expense – $1,200 decrease in wages payable – $17,000 insurance expense – $1,200 increase in prepaid insurance – $10,400 interest expense – $1,100 decrease in interest payable). Depreciation expense is a non-cash expense. 
2. Question ID#: 97304  cash budget/cash outflows

What is the impact on accounts receivable if sales exceed cash collections and what is the impact on accounts payable if cash paid to suppliers exceeds purchases?

	A)
	Only accounts receivable will increase.



	

	B)
Both will increase.



	C)
Only accounts payable will increase.




The correct answer was A. 

If a firm sells more than it collects, accounts receivable will increase. If a firm pays suppliers more than it purchases, accounts payable will decrease. 
3. Question ID#: 96623  cash balance

In preparing a cash flow forecast, a firm is likely to employ a minimum acceptable cash balance: 

	A)
	that includes a component for opportunities that may arise.



	

	B)
which includes estimated expenses and a margin for unforeseen expenses only.



	C)
equal to the amount necessary to pay projected payables, interest, taxes, and day-to-day expenses.




The correct answer was A. 

Firms typically establish some minimum level of cash balances that they feel are necessary for their business. Cash may be needed for unforeseen costs as well as to take advantage of opportunities that arise, such as discount prices on important inputs. 

4. Question ID#: 96625  ratio analysis (liquidity)

Alton Industries will have better liquidity than its peer group of companies if its: 

	A)
	receivables turnover is higher.



	

	B)
average trade payables are lower.



	C)
quick ratio is lower.




The correct answer was A. 

Higher receivables turnover is an indicator of better receivables liquidity since receivables are converted to cash more rapidly. A lower quick ratio is an indication of less liquidity. Lower trade payables could be related to better liquidity, but could also be consistent with very poor liquidity and a requirement from its suppliers of cash payment. 
5. Question ID#: 96598  ratio analysis (liquidity)

Which of the following is least likely an indicator of a firm’s liquidity? 

	A)
	Amount of credit sales.



	

	B)
Inventory turnover.



	C)
Cash as a percentage of sales.




The correct answer was A. 

No inferences about liquidity are warranted based on this measure. A firm may have higher credit sales than another simply because it has more sales overall. Cash as a proportion of sales and inventory turnover are indicators of liquidity. 

6. Question ID#: 96628  ratio analysis (credit)

A firm has average days of receivables outstanding of 22 compared to an industry average of 29 days. An analyst would most likely conclude that the firm: 

	A)
	may have credit policies that are too strict.



	

	B)
has better credit controls than its peer companies.



	C)
has a lower cash conversion cycle than its peer companies.




The correct answer was A. 

The firm’s average days of receivables should be close to the industry average. A significantly lower average days receivables outstanding, compared to its peers, is an indication that the firm’s credit policy may be too strict and that sales are being lost to peers because of this. We can not assume that stricter credit controls than the average for the industry are “better.” We cannot conclude that credit sales are less, they may be more, but just made on stricter terms. The average days of receivables are only one component of the cash conversion cycle. 
7. Question ID#: 96552  inventory mgmt

With respect to inventory management,: 

	A)
	an increase in days of inventory on hand can be the result of either good or poor inventory management.



	

	B)
a firm with inventory turnover higher than the industry average can be expected to have better profitability as a result.



	C)
a decrease in a firm’s days of inventory on hand indicates better inventory management and can lead to increased profits.




The correct answer was A. 

An increase in inventory could indicate poor sales and an accumulation of obsolete items or could be the result of a conscious effort to have adequate supplies to avoid losses from not having items to satisfy customer orders (stock outs). Higher-than-average inventory turnover could indicate better inventory management or could indicate that a less than optimal inventory is being maintained by the company. 

9. Question ID#: 96565  cash cycle / operating cycle

Compared to the prior period, a firm has greater days of receivables. The effect on the firm’s cash conversion cycle and operating cycle are most likely a(n): 

	
	Cash conversion cycle 
	Operating cycle 


	A)
	Increase 

Increase 



	

	B)
Increase 

Decrease 



	C)
Decrease 

Increase 




The correct answer was A. 

Greater days of receivables will increase both the cash conversion cycle and operating cycle, other things equal. 

10. Question ID#: 96559  working capital mgmt

An analyst who is evaluating a firm’s working capital management would be least likely to be concerned if the firm’s: 

	A)
	operating cycle is shorter than that of its peers.



	

	B)
trade payables turnover is lower than that of its peers.



	C)
total asset turnover is lower than its industry average.




The correct answer was A. 

A shorter operating cycle will lead to a shorter cash conversion cycle, other things equal, which is an indication of better working capital management. Lower trade payables turnover and higher days inventory on hand, compared to peer company averages, will both tend to lengthen the cash conversion cycle, an indication of poorer working capital management. Good working capital management would tend to increase a firm’s total asset turnover since a given amount of sales can be supported with less working capital (less current assets). 
Chapter 19: Cash and Liquidity Management
1. Question ID#: 96595  investing idle cash

The least appropriate security for investing short-term excess cash balances would be: 

	A)
	preferred stock.



	

	B)
bank certificates of deposit.



	C)
time deposits.




The correct answer was A. 

While adjustable-rate preferred is an appropriate security for short-term investment of excess cash balances, other preferred shares are not. Bank certificates of deposit and time deposits can be for appropriately short periods. 

2. Question ID#: 96566  investing idle cash

An appropriate cash management strategy for a company that has a seasonally high need for cash prior to the holiday shopping season would least likely include: 

	A)
	investing in U.S. Treasury notes at other times of the year because they are highly liquid.



	

	B)
allowing short-term securities to mature without reinvestment.



	C)
borrowing funds though a bank line of credit.




The correct answer was A. 

Treasury notes have maturities between 2 and 10 years and, thus, have maturities longer than those of securities suitable for cash management. Allowing short-term securities to mature without reinvesting the cash generated would be one way to meet seasonal cash needs. Short-term bank borrowing or issuing commercial paper that can be paid off when holiday sales generate cash would be appropriate strategies for dealing with a predictable short-term need for cash. 



Chapter 20: Credit and Inventory Management
1. Question ID#: 96550  credit policy / collection period

A result that is most likely to give a financial manager concern that his firm’s credit policy may have become too lenient is: 

	A)
	weighted average collection period has increased.



	

	B)
receivables turnover has increased significantly.



	C)
inventory turnover has decreased considerably.




The correct answer was A. 

The weighted average collection period is the average number of days it takes to collect a dollar of receivables. A decreased percentage of sales made on credit or an increase in the receivables turnover ratio might result from more strict credit terms. Inventory turnover is not directly affected by credit terms, only though the effect of credit terms on overall sales. 

2. Question ID#: 96555  trade discounts

Which of the following strategies is most likely to be considered good payables management? 

	A)
	Paying invoices on the last possible day to still get the supplier’s discount for early payment.



	

	B)
Taking trade discounts only if the firm’s annual return on short-term investments is less than the discount percentage.



	C)
Paying trade invoices on the day they arrive.




The correct answer was A. 

Paying invoices on the last day to get a discount (for early payment) ifs often the most advantageous strategy for a firm. If the annualized percentage cost of not taking advantage of the discount is less than the firm’s short-term cost of funds, it would be advantageous to pay on the due date. However, the discount percentage is not an annualized rate, so it cannot be compared directly to the firm's annual return on short-term investments. Paying prior to the discount cut-off date or prior to the due date sacrifices interest income for no advantage. 

3. Question ID#: 98008  inventory/FIFO

Which of the following statements regarding first in, first out (FIFO) is least accurate? 

	A)
	Items sold are a mix of the cost of the purchases. 



	

	B)
Ending inventory consists of the cost of the most recent purchases.



	C)
Cost of goods sold consists of the costs of the first purchases.




The correct answer was A. 

With FIFO the cost of the items sold are the first purchased, with LIFO the cost of the items last purchased represent the first to be sold, and with the weighted average cost method the cost of the items sold are a mix of purchases. 

Chapter 21: International Corporate Finance
1. Question ID#: 97997  foreign bond

A bond issued by the government of Italy is likely to be denominated in which one of the following currencies? 

	A)
	Euros.



	

	B)
U.S. dollars.



	C)
Swiss francs.




The correct answer was A. 

Bonds issued by governments are likely to be denominated in the currency of the country where the bond is issued. In this case, the Euro is the Italian currency and bonds issued by the Italian government would normally be issued in Euros. 
2. Question ID#: 98164  foreign bonds/exchange rates

Which of the following statements is FALSE?

	A)
	The depreciation of foreign currency benefits domestic investors who buy foreign securities. 



	

	B)
Exchange-rate risk may benefit a bond investor.



	C)
An investor who purchases a foreign bond gains the most when both the asset and the foreign currency appreciate in value.




The correct answer was A. 

This statement should read, "The appreciation of foreign currency benefits domestic investors who buy foreign securities." The other choices are true. Exchange rate risk creates uncertainty for the investor, but is not always bad for the investor. If a domestic investor purchased a foreign currency denominated bond, appreciation in the foreign currency would benefit the investor.

3. Question ID#: 98160  foreign bonds/exchange rates

While serving as visiting conductor at the University of Edinburgh, U.S. Citizen William Golson purchases a 9.0% annual coupon bond denominated in the local currency for 93.0. One year later, before his return to the U.S., he sells the bond for 99.5. Using a holding period return formula he remembers from his undergraduate studies, he calculates his return at 16.7%. On the flight home, he is seated next to Kristin Meyer, CFA. She is puzzled because she has heard that similar investments yielded negative returns over the same time period. After consulting her financial newspaper, she recalculates Golson’s return at a disappointing negative 5.2%.

Assuming Meyer is correct, which of the following statements is the most likely reason for the difference in the calculated returns? Golson: 

	A)
	forgot to include the impact of foreign currency depreciation in relation to the dollar.



	

	B)
forgot to include the impact of foreign currency appreciation in relation to the dollar.



	C)
omitted the impact of inflation.




The correct answer was A. 

Golson most likely forgot to take into account the impact of the percentage change in the dollar value of the foreign currency. Here, since the correct return (calculated by Meyer) is lower than that calculated by Golson (who omitted the impact of foreign exchange), the foreign currency depreciated in relation to the dollar. The appreciation in the bond value was not enough to offset the currency depreciation, and the total return in dollar terms was negative. Calculating the total dollar return on a bond is discussed in more detail later in Study Session 18.

4. Question ID#: 98120  foreign bonds/exchange rates

While working abroad, U.S. citizen Dirk Senik purchases a foreign bond with an annual coupon of 7.5% for 95.5. One year later, the exchange rate between the dollar and the foreign currency remains unchanged and he sells the bond for 97.25, resulting in a holding period return of 9.7%. If the foreign currency had depreciated in relation to the dollar, Senik’s return would be:

	A)
	less than 9.7%.



	

	B)
greater than 9.7%.



	C)
equal to 9.7%.




The correct answer was A. 

The return on a foreign bond is a combination of the return on the bond and the movement in the foreign currency. In the base case, the movement in the foreign security was 0 and thus the return was just the holding period return on the bond. If the foreign currency depreciates, the return will be lowered because the investor will lose upon conversion to the dollar. Calculating the total dollar return on a bond is discussed in more detail later in Study Session 18.

5. Question ID#: 98113  foreign bonds/exchange rates

Assume there are two investors: a U.S. citizen and a Swiss citizen. The United States is considered the domestic country and Switzerland is the foreign country. In the context of bond investments, appreciation in the Swiss Franc (CHF) benefits the:

	A)
	U.S. investor buying Swiss bonds.



	

	B)
U.S. investor buying U.S. bonds.



	C)
Swiss investor buying U.S. bonds.




The correct answer was A. 

The appreciation of the foreign currency (Swiss Franc-CHF) benefits domestic investors (U.S. citizens) who buy foreign (Swiss) bonds. When the CHF appreciates, each unit of CHF is worth more in that it buys more of the U.S. dollar than before. Here, the U.S. investor gains by buying foreign bonds because the investor realizes not only the return from the bond but also a gain from the foreign currency appreciation

6. Question ID#: 97754  exchange rate risk

Which of the following statements about currency risk is most accurate? Generally:

	A)
	appreciation of the foreign currency is good for domestic investors who buy foreign securities.



	

	B)
if the foreign currency appreciates, the foreign cash flow will be worth less for the domestic investor.



	C)
if the home currency appreciates against the foreign currency, each foreign currency unit will be worth more in terms of the home currency.




The correct answer was A. 

If the home currency appreciates against the foreign (i.e., payment) currency, each foreign currency unit will be worth less in terms of the home currency. If the foreign currency appreciates, a given foreign cash flow will be worth more units of the home currency, thereby benefiting the domestic investor holding foreign securities.

7. Question ID#: 98103  LIBOR

The interest rate paid on negotiable CDs by banks in London is referred to as: 

	A)
	LIBOR.



	

	B)
the Fed Funds rate.



	C)
the London rate.




The correct answer was A. 

The interest rate paid on negotiable CDs by banks in London is referred to as LIBOR. LIBOR is determined every day by the British Bankers Association. The Fed Funds rate is the rate paid on interbank loans within the U.S. The London rate is a fabricated term in this context. 
8. Question ID#: 95808  LIBOR

The offer rate on U.S. dollar (USD) denominated loans between large banks in London is called: 

	A)
	London Interbank Offered Rate (LIBOR).



	

	B)
Eurobor.



	C)
the Exchequer rate.




The correct answer was A. 

The rate on USD denominated loans between large banks in London is the LIBOR. 

9. Question ID#: 95052  currency forward calc

Macklin Metals has received 80 million pounds sterling. The company plans to spend $120 million on a project in the United States in 90 days. Macklin inters into a cash settlement currency forward to exchange the pounds for U.S. dollars at a rate of $1.50 per pound in 90 days. If the exchange rate is $1.61 per pound at the settlement date, the cash settlement Macklin will pay or receive is closest to: 

	A)
	$8.8 million payment.



	

	B)
$8.8 million receipt.



	C)
$5.5 million payment.




The correct answer was A. 

Under the contract, Macklin receives:
80 million pounds × $1.50 = $120.0 million
At market rates, Macklin would receive:
80 million pounds × $1.61 = $128.8 million
Macklin must pay the difference, $8.8 million ($128.8 million − $120 million), as the cash settlement to the counterparty.

Chapter 23: Risk Management: An Introduction to Financial Engineering
Question ID#: 95753  derivative definition

1. A derivative security: 

	A)
	is one that is based on the value of another security. 



	

	B)
is like a callable bond.



	C)
has a value dependent on the shape of the yield curve.




The correct answer was A. 

A derivative security is one that ‘derives’ its value from that of another security. 

2. Question ID#: 95642  diff betw fowards/futures

Which of the following statements about forward and future contracts is least accurate?

	A)
	The primary difference between forwards and futures is that only futures are considered financial derivatives.



	

	B)
A predetermined price to be paid for a good is a necessary requirement in the terms of a forward contract.



	C)
A future requires the contract purchaser to receive delivery of the good at a specified time.




The correct answer was A. 

Forwards and futures are similar and serve similar needs. Both are considered types of financial derivatives in that payoffs depend on another financial instrument or asset. The primary difference is that forwards are designed for the needs of the particular parties entering the contract, where futures are standardized contracts.

3. Question ID#: 95720  swap contract

A contract that involves a series of forward commitments is a: 

	A)
	swap. 



	

	B)
strap. 



	C)
future. 




The correct answer was A. 

A swap consists of a series of forward commitments on multiple ‘settlement’ dates. A strap is an options strategy and a stack is a type of hedge. 



4. Question ID#: 95488  forward contract/credit risk

Default risk in a forward contract: 

	A)
	is the risk to either party that the other party will not fulfill their contractual obligation.



	

	B)
only applies to the short, who must make the cash payment at settlement.



	C)
only applies to the long, and is the probability that the short can not acquire the asset for delivery.




The correct answer was A. 

Default risk in forward contracts is the risk to either party that the other party will not perform, whether that means pay cash or deliver the asset. 

5. Question ID#: 95021  diff betw forwards/futures

Which of the following statements about forward contracts and futures contracts is FALSE? Forwards: 

	A)
	have no default risk, unlike futures.



	

	B)
are private contracts, unlike futures.



	C)
are unique contracts, unlike futures.




The correct answer was A. 

Forwards have default risk because the seller may not deliver and the buyer may not accept delivery. 

6. Question ID#: 95340  Marking-to-market

Which of the following statements best describes marking-to-market of a futures contract? At the: 

	A)
	end of the day, the gains or losses are tallied to the trader's account.



	

	B)
conclusion of each trade, the gains or losses from all previous trades in the futures contract are tallied.



	C)
end of the day, the maintenance margin is increased for traders who lost and decreased for traders who gained. 




The correct answer was A. 

Marking-to-market means that, at the end of the day, all gains or losses are tallied to the trader’s account. 

7. Question ID#: 95360  closing futures contract

Most deliverable futures contracts are settled by: 

	A)
	an offsetting trade.



	

	B)
delivery of the asset at contract expiration.



	C)
a cash payment at expiration.




The correct answer was A. 

Most futures positions are closed out by an offsetting trade at some point during life of the contract
8. Question ID#: 95417  interest rate cap

The owner, of an interest-rate cap will: 

	A)
	receive a payment if the market rate exceeds the cap rate.



	

	B)
be required to make a payment if the market rate exceeds the cap rate.



	C)
receive a payment if the market rate is less than the cap rate.




The correct answer was A. 

An interest-rate cap will pay its owner the maximum of zero or the market rate minus the cap rate, times the notional principal. 

9. Question ID#: 95412  interest rate collar

Buying an interest-rate cap and selling an interest-rate floor is equivalent to: 

	A)
	buying a series of interest-rate calls and selling a series of interest-rate puts.



	

	B)
buying a series of interest-rate puts and selling a series of interest rate calls.



	C)
buying a series of interest-rate puts and calls.




The correct answer was A. 

A cap is equivalent to a series of (long) interest-rate calls and selling a floor is equivalent to selling a series of interest-rate puts. 

10. Question ID#: 95608  interest rate swap

Which transaction would least likely be classified as an interest rate swap? 

	A)
	Receive AUD fixed, pay NZD floating. 



	

	B)
Receive U.S. fixed, pay U.S. commercial paper. 



	C)
Pay USD fixed, receive U.S. LIBOR. 




The correct answer was A. 

Because it involves two different currencies, this would be a currency swap. 
Chapter 24: Options and Corporate Finance
1. Question ID#: 98134  bad debt & warranty expenses

Galaxy Corporation manufactures custom motorcycles. Galaxy finances the motorcycles over 36 months for customers who make a minimum down payment of 10%. Historically, Galaxy has experienced bad debt losses equal to 1% of sales. Galaxy also provides a 24 month unlimited warranty on all new motorcycles. In the past, warranty expense has averaged 3% of sales. Ignoring taxes, how does the recognition of bad debt expense and warranty expense at the time of sale affect Galaxy’s liabilities?

	
	Bad debt expense 
	Warranty expense 


	A)
	No effect 

Increase 



	

	B)
No effect 

No effect 



	C)
Increase 

Increase 




The correct answer was A. 

The recognition of bad debt expense has no effect on liabilities, current revenues are reduced by the expected amount of uncollectable accounts. Bad debt expense reduces net income and reduces assets. The recognition of expected warranty expense decreases net income (following the matching principle), and since it is not currently paid (doesn’t reduce assets) it creates or increases a liability at the time of sale. 
2. Question ID#: 95397  Put-call parity

Assume that the value of a put option with a strike price of $100 and six months remaining to maturity is $5. For a stock price of $110 and an interest rate of 6%, what value is closest to the corresponding call option with the same strike price and same expiration as the put option? 

	A)
	$17.87.



	

	B)
$11.99.



	C)
$12.74.




The correct answer was A. 

Call value = $110 + $5 – $100 / 1.060.5 = $17.87. 

3. Question ID#: 95416  Put-call parity

Using put-call parity, it can be shown that a synthetic European call can be created by a portfolio that is: 

	A)
	long the stock, long the put, and short a pure discount bond that pays the exercise price at option expiration. 



	

	B)
long the stock, long the put, and long a pure discount bond that pays the exercise price at option expiration.



	C)
long the stock, short the put, and short a pure discount bond that pays the exercise price at option expiration.




The correct answer was A. 

A stock and a put combined with borrowing the present value of the exercise price will replicate the payoffs on a call at option expiration. 

4. Question ID#: 95415  Put-call parity

Using put-call parity, it can be shown that a synthetic European put can be created by a portfolio that is: 

	A)
	short the stock, long the call, and long a pure discount bond that pays the exercise price at option expiration. 



	

	B)
short the stock, long the call, and short a pure discount bond that pays the exercise price at option expiration.



	C)
long the stock, short the call, and short a pure discount bond that pays the exercise price at option expiration.




The correct answer was A. 

A short position in the stock combined with a long call and lending the present value of the exercise price will replicate the payoffs on a put at option expiration. 

5. Question ID#: 95604  protective put

Jasper Quartermaine is interested in using the options market to create “insurance” against a severe drop in the value of a stock portfolio that he owns. How could he best accomplish this goal and what is this type of strategy called?'

       Type of option                Strategy
	A)
	buy put options   

protective put



	

	B)
write call options   

protective put



	C)
write call options   

covered call




The correct answer was A. 

An investor can simulate portfolio insurance by purchasing put options. Losses in the underlying portfolio are offset by gains in the put position. The investor is already long his portfolio and if he buys a long put for his portfolio he is replicating a protective put strategy.

6. Question ID#: 95341  protective put

An investor buys a 30 put on a share of stock for a premium of $7 and simultaneously buys a share of stock for $26. The breakeven price on the position and the maximum gain on the position are:

	
	Breakeven price 
	Maximum gain 


	A)
	$33 

unlimited 



	

	B)
$21 

$11 



	C)
$37 

$11 




The correct answer was A. 

To break even, the stock price should rise as high as the amount invested, $33 ($26 + $7). The maximum gain is unlimited, as the gain will be as high as the increase in the stock price. 
7. Question ID#: 95298  protective put

Given the payoff diagram shown below of an option combined with a long position in a stock, which of the following statements most accurately describes the profit or loss potential to the holder of the combined position? 
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	A)
	The maximum loss on the long put is its cost.



	

	B)
The maximum profit on the long call is unlimited.



	C)
The maximum profit on the short put is $2.




The correct answer was A. 

This is a graph of a protective put, which is a combination of owning the stock and purchasing a put on the same stock. The maximum loss on the put is its $2 cost. The statements regarding the maximum loss on a short call and the maximum profit on a long call or a short put are true, but none of these positions are held by the owner of the protective put. 
Chapter 25: Option Valuation
1. Question ID#: 97983  diluted EPS

Zichron, Inc., had the following equity accounts on December 31:

· Common stock: 20,000 shares. 

· Preferred stock A: 10,000 shares convertible into common on a 2 for 1 basis, dividend of $40,000 was declared during the year. 

· Preferred stock B: 10,000 shares, convertible to common on a 4 for 1 basis, dividend of $5,000 was declared during the year. 

· The company reported net income of $120,000 and paid a $20,000 dividend to its common shareholders. 

What are the basic earnings per share reported for the year? 

	A)
	$3.75.



	

	B)
$2.75.



	C)
$2.00.




The correct answer was A. 

($120,000 − 40,000 − 5,000) / 20,000 shares = $3.75. 



What are the diluted earnings per share reported for the year?

	A)
	$1.50. 



	

	B)
$3.00. 



	C)
$1.33. 




The correct answer was A. 

($120,000) / (20,000 + 20,000 + 40,000) = $1.50. 
2. Question ID#: 97982  basic EPS

A firm has a weighted average number of 20,000 common shares selling at an average of $10 throughout the year and 11,000, 10%, $100 par value preferred shares. If the firm earns $210,000 after taxes, what is its Basic EPS?

	A)
	$5.00 / share.



	

	B)
$7.50 / share.



	C)
$10.50 / share.




The correct answer was A. 

(210,000 − 110,000) / 20,000 = $5 share 

3. Question ID#: 97822  diluted EPS

How will dilutive securities affect earnings per share (EPS) when determining diluted earnings per share?

	A)
	Decrease EPS.



	

	B)
Increase EPS.



	C)
Either decrease or increase EPS depending upon if the security is dilutive or antidilutive.




The correct answer was A. 

Dilutive securities such as convertibles and options are found in a complex capital structure and always decrease EPS. Convertibles and options may also be antidilutive, which will increase EPS hence the name antidilutive. The only way to know if a security is dilutive or antidilutive is to compare the basic EPS to diluted EPS. If the diluted EPS is higher than the basic EPS then the security is antidilutive and should not be included when determining diluted EPS.

4. Question ID#: 95726  put option basics

Basil, Inc., common stock has a market value of $47.50. A put available on Basil stock has a strike price of $55.00 and is selling for an option premium of $10.00. The put is:

	A)
	in-the-money by $7.50.



	

	B)
out-of-the-money by $2.50.



	C)
in-the-money by $10.00.




The correct answer was A. 

The put allows a trader to sell Basil common stock for $7.50 more than the current market value ($55.00 − $47.50). The trade is normally closed out with a cash settlement, but the trader could buy 100 shares for $47.50 per share and immediately sell them to the option writer for $55.00.

5. Question ID#: 95324  call option basics

Which of the following statements about call options at expiration is most accurate?

	A)
	All of the answers are correct.



	

	B)
The profit potential to the buyer of the option is unlimited.



	C)
The call buyer's maximum loss is the call option's premium.




The correct answer was A. 

A call option gives its owner the right to purchase an underlying good at a specified price for a specified period of time. When the stock's price (S) is above the strike price (X), a call option has value and is said to be in the money.

The table below summarizes the maximum loss and gain for the call writer/owner:

	
	Writer
	Owner

	Maximum Loss
	unlimited
	premium

	Maximum Gain
	premium
	unlimited


Note: Trading call options is a zero-sum game. The long profits = the short losses. 

6. Question ID#: 95331  call option basics

The payoff of a call option on a stock at expiration is equal to: 

	A)
	the maximum of zero and the stock price minus the exercise price.



	

	B)
the minimum of zero and the stock price minus the exercise price.



	C)
the maximum of zero and the exercise price minus the stock price.




The correct answer was A. 

The payoff on a call option on a stock is Max (0, S – X). 

7. Question ID#: 95616  American vs European options

What is the primary difference between an American and a European option? 

	A)
	The American option can be exercised at anytime on or before its expiration date.



	

	B)
American and European options are never written on the same underlying asset. 



	C)
The European option can only be traded on overseas markets. 




The correct answer was A. 

American and European options are virtually identical, except exercising the European option is limited to its expiration date only. The American option can be exercised at anytime on or before its expiration date. For the exam, the key concept relating to this difference is the value of the American option must be equal or greater than the value of the corresponding European option, all else being equal. 
8. Question ID#: 95511  put option lower bound

Consider a put option expiring in 120 days on a non-dividend-paying stock trading at 47 when the risk-free rate is 5%. What are the lower bounds for an American put and a European put with exercise prices of 50?

	
	American Put
	European Put


	A)
	$3.00

$2.20



	

	B)
$2.20

$2.20



	C)
$3.00

$3.00




The correct answer was A. 

An American put can be exercised immediately for a $3 gain, the European put cannot be exercised until expiration so its minimum value is 50 / (1.05)120/365 − 47 = $2.20. 

9. Question ID#: 95434  call option intrinsic value

A call option’s intrinsic value: 

	A)
	increases as the stock price increases above the strike price, while a put option’s intrinsic value increases as the stock price decreases below the strike price.



	

	B)
decreases as the stock price increases above the strike price, while a put option’s intrinsic value increases as the stock price decreases below the strike price.



	C)
increases as the stock price increases above the strike price, while a put option’s intrinsic value decreases as the stock price decreases below the strike price.




The correct answer was A. 

For a call option, as the underlying stock price increases above the strike price, the option moves farther into the money, and the intrinsic value is increasing. For a put option, as the underlying stock price decreases below the strike price, the option moves farther into the money, and the intrinsic value is increasing. 



10. Question ID#: 95573  long put – max gain/breakeven

An investor bought a 40 put on a stock trading at 43 for a premium of $1. What is the maximum gain on the put and the value of the put at expiration if the stock price is $41?

	
	Maximum
Gain on Put
	Value of the Put
at Expiration


	A)
	$39

$0



	

	B)
$40

$2



	C)
$42

$2




The correct answer was A. 

The maximum gain on a long put is the strike price minus the premium, 40 – 1 = $39. The value at expiration is zero because the put is out-of-the-money. 
Chapter 26: Mergers and Acquisitions
1. Question ID#: 97302  Leasing

On January 1, 2008, Tenant Company leased office space from Landlord Inc. for 5 years at $75,000 per month. On that same date, Tenant made the following payments to Landlord:

	First month’s rent 
	$75,000 

	Last month’s rent 
	75,000 

	Security deposit 
	100,000 

	Lease improvements 
	1,500,000 


The leasehold improvements include build-out costs to install office walls, restrooms, and a kitchen. Tenant allocates the cost of the leasehold improvements over the lease term using the straight-line method. What amount of total lease expense should Tenant report for the year ended 2008 and what is the balance of all of the lease related assets on December 31, 2008, assuming the lease payments are made on the first day of each month? 

	
	Lease expense 
	Lease related assets 


	A)
	$1,200,000 

$1,375,000 



	

	B)
$1,200,000 

$1,200,000 



	C)
$375,000 

$1,375,000 




The correct answer was A. 

Total annual lease expense is $1,200,000 [$75,000 monthly payment × 12 months) + ($1,500,000 lease improvements / 5 years)]. At the end of 2008, Tenant will report lease related assets of $1,375,000 [$75,000 prepaid rent + 100,000 deposit + $1,200,000 book value of leasehold improvements]. 
2. Question ID#: 97246  Leasing & taxes

Does the Financial Accounting Standards Board require firms to disclose information about operating leases and detailed information about defined benefit pension plans in the financial statement footnotes?

	
	Operating lease information 
	Defined benefit pension plans 


	A)
	Yes 

Yes 



	

	B)
No 

Yes 



	C)
Yes 

No 




The correct answer was A. 

Both lessees and lessors are required to provide disclosures pertaining to operating leases in the financial statement footnotes. Detailed pension plan information must also be disclosed. 
